VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support

ELECTRIC WIRE ROPE HOIST
USER MANUAL

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are
actually saving half in comparison with the top major brands.


https://www.vevor.com/support
https://manuals.plus/m/bd04fda5cec783e1f75b758ec2f62e42b65bdbffeb98a348f44560e85230466b

‘ r L2
EVOR ELECTRIC WIRE ROPE HOIST

TOUGH TOOLS, HALF PRICE

MODEL:PA800 /PA1000

(The picture is for reference only; please refer to the actual object)

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.

-1-



SAFETY INSTRUCTION AND PRECAUTIONS

Symbol

Symbol Description

&

Warning: To reduce the risk of injury, the user must read the

instructions manual carefully.

A\

This symbol, placed before a safety comment, indicates a kind of
precaution, warning, or danger. Ignoring this warning may lead to
an accident. To reduce the risk of injury, fire, or electrocution,
please always follow the recommendations shown below.

£ WARNING:
1. Read carefully and understand all ASSEMBLY AND OPERATION

INSTRUCTIONS before operating.

N

. This product may cause harmful interference. Failure to follow the

safety rules and other basic safety precautions may result in serious
personal injury.

3. Before using the clipper, ensure that the work area is clean and tidy,
and avoid debris obstructing the operation.

»

During the operation, keep your fingers away from the impact area of

the nail gun to avoid accidental injury.

(63}

. When using a sausage clipper, maintain a stable posture and avoid

hand shaking or sliding to ensure that the nail can be accurately fixed
on the target object.




INSTRUCTIONS

Thank you for purchasing the mini electric hoist in our company. We hope it
can bring the convenience in you need.

Please read and understand this manual carefully before you make the

installation and operation of the mini electric hoist,
especially the "SAFE OPERATION" and to ensure everyone who uses the
mini electric hoist read and understand this part.

TECHNICAL PARAMETERS FORM

Lifting

Lifting

Cable

Input

model usage Ca(pka()nty Speed Height Long Power \gﬁ)trk R\?(t)letd
9 (m/min) (m) (m) (W) y
Single
100 10 12
hook s3
PA200 50l 200 s 5 12 450 | 259-10min
hook
Single
125 10 12
hook S3
PA250 50l 50 s o 12 500 | 20%-10min
hook
Single
150 10 12
hook s3
PAS00 il 300 s 5 12 550 | 20%-10min
hook
Single
200 10 12
hook S3
PA400 Double 400 5 6 12 750 25%-10min
el Single
ook 250 10 12 3 220-
PA500 12 900 . 240V~
Doutle 500 s 5 20%-10min | 47
S'ool 60Hz
o 300 10 12 <3
PAB00 50 i 500 s o 12 1050 | 20%-10min
hook
Single
400 10 12
hook s3
PABOO 0l 500 s 5 12 14501 20%-10min
hook
Single
500 10 12
hook S3
PA1000 12 1800 .
Double 1000 5 6 20%-10min
hook
Single
600 10 12
hook s3
PA12000 (—200 12 2000 | 59%-10min
hook 1200 5 6

Note: Insulated class: B;Protection grades:IP40; working system:
Continuing cycle work.(for example:S3 25%-10min)

-3-




SAFE OPERATION PROCEDURES

Please follow this procedures and notice the safety

when you use the mini electric hoist:

1.Please read and understand this manual carefully before the operation. We must
regularly check the installation of micro-electric hoist to meet the needs and to
facilitate you apply the mini electric hoist. The installation location Mini electric
hoist and confirm it is solid or not.

2.The capacity of the mini electric hoist is limited, please don't overloading use.
And don't use it when you don't know the weight of the objects (including hanging
pull buried stowage, cables,inclined condole)!Overloading might damage the mini
electric hoist or the rope, and also increase unsafe factors of the operation process.
We suggest to use the pulley to operate when you hook clog, this method can
make the load to reduce by 50%.

3.Mini electric hoist is designed according S3-20%(25%)-10min(namely it works
2min and need have to rest 8min) Please don't long time use continuous. Using
continuous may increase unsafe factors during operation, which will seriously
damage the motor.

4.Please don't "pull" suspended objects when the mini electric hoist is working,
otherwise, it will increases load of the mini electric hoist, and put mini-electric hoist
and wire rope in overloading condition.

5.Keep mini electric hoist working area clean and tidy. Don't let other personnel
near and contact taut wire rope,forbid anyone standing on the below in operation
state of mini electric hoist.

6. As there is a need to change the wire rope, its type specification must be
consistent with the original wire rope.

7. Please put thick leather gloves on and don't allow wire rope from your hand
across when Wire rope in working, otherwise the lesions of wire rope might stab
your hand.

8. At the end of the operating,please put wire rope into canister and do not use
hand directly to lead and array wire rope.

9. Do not use hooks to hook rope itself. Do not use micro-rope hoist to hitch the
object suspended, otherwise it will damage the rope itself.So please use another
appropriate rope to hitch the object.



10. Limit device is as a safety device configuration, it can make sure when hook
rose to limit position is shut off when,

11.Don't use mini electric hoist to hook someone or use it for manned elevator, this
mini electric hoist is not to be used for lifting.

12.Mini electric hoist installation positions must be sure the warning sign and
telltale marks are in striking state, because we need.

13.Ensure the operation of micro-electric hoist to operate without any barrier
14.Please do not operate Mini electric hoist In drinking.

15.Please don't below the mini electric hoist around when it works.

16. Please use the fixed attachment of the mini electric hoist provided, or you are
insecure.

17. Don't optional reconstruct or weld mini electric hoist

18.With the mini electric hoist hook object, make sure rope cylinder on retained for
at least 3 laps wire rope, in order to prevent the wire rope is too stress from rope
cylinder on shedding.

INSTALLATION

Warning: Open box. Be sure to open and take paper tape wrapped around the
rope drum, only after that can you test machine, if you rush to test machines, it
may cause rope to rewind and crash aircraft.

The location of mini-electric hoist installation is according to operational
needs.Be proposed to install in a special bracket for mini-electric hoist, and should
be solid and reliable.

Should avoid wire rope with and limit rack direct contact,otherwise it will cause
the limit switch failure, causing micro-electric hoist is not working properly.Should
avoid wire rope with and limit rack direct contact,otherwise it will cause the limit
switch failure, causing micro-electric hoist is not working properly.

Do not let the mini-electric hoist be exposed to rain or soaked in water, the
protection class of mini-electric hoist is IP40.

Mini electric hoist needs to use the fixed hex bolts, flat washers, spring
washers etc, ensure proper installation of all components, and tighten bolts with
torque wrench, enclosed annex "installation map." Ensure that the fixed ring (or
other substitute) firmly presses the mounting pole (round rod or square bar). so
that the micro-electric hoist body does not move or rotate

-5-



POWER INSTALLATION

The standard of work of the mini electric hoist is single-phase AC power
source 220-240V/50-60Hz, and must be used attaching ground.

Warning: ensure all cables and mini electric hoist on rotational or fever parts
maintain proper distance.

OPERATION

switch

Do not to operate the switch, "rising switch", falling switch" in "disconnect”
form, "urgent stop switch" (only for PA1000) in"make up" state, mini electric hoist
motor power disconnected,mini electric hoist in braking. Press the "rising
switch"(near cable side), the "rising switch" in the "make up" condition, mini
electric hoist motor rises loop the power is connected, mini electric hoist is in
motion state. At the same time hook is rising status.Click "falling switch". "falling
switch"in the "make up" condition, mini electric hoist motor decline loop the power
is connected mini electric hoist is in motion state,and hook falling state.

For PA1000 type, if you press the "urgent stop switch", then mini electric hoist
electric motor rises circuit, drop loop is disconnected, press " rising switch", "falling
switch" mini electric hoist is not running, must be reset" urgent stop switch", ability
makes mini electric hoist working normally.

1.Warning: 1.If mini electric hoist has absence of operation the power should
be cut off and good isolation measures should be taken. It is a prohibition that
heavy objects are hung in the air for a long time, so as to prevent permanent
deformation or any accident.

Regular inspect fixed mini electric hoist the bolts and the power cord,
seasonable clear accumulation in electric hoist online of dust and corrosive liquid.

2. If the electric hoist in decline state, electric hoist reel last coated with red
paint of wire rope cannot release three laps. If continue to decline switch, wire rope
according to that would pour around the rope canister, making the electric hoist up
and down operation conversed, such limit switches will lose action.



MAINTENANCE

oil

Buying a new miniature electric hoist inside note have lifelong maintenance
lubricant. In operating mini electric hoist, there may be little oozy, especially in the
first operation. This is normal, do not need to refuel for the mini electric hoist.
Wire rope

Mini electric hoist needs to periodic inspect and replace frequently the rope. If the
wire rope frayed, should be replaced immediately.

FAULT AND EXCLUDING

Mini electric hoist often be used or improperly operated, may appear various
faults. Common faults, causes and elimination methods see table below:

Common reason Elimination method
faults
1.The power supply has been through | 1. Processing power
2.Wiring broken orlo 2. Check wiring and repair
Hand lift button to 3.Switch 3. Repair or transfer switch
switch 4 Capacitor damage 4. 4 Exchange capacitors
Motor doesn'’t rotate 5.(climb button failure . reset or the Check limit frame or exchange
stroker) beginning failure limit fragment| travel switch
6.Abrupt stop switch is not reset 6. Reset abrupt stop switch
1. Adjust voltage
Hand lift button to 1.The power supply voltage is too low 2. Exchange capacitors
switch Motor noise big | 2.Capacitor damage :
Cant start normally 3.Switch contact undesirable Repair or transfer switch. Please

contact us or the sales units

Brake failure or slide

Please contact us or the sales units
down a large amount

1. Bad lubrication 1. Add the grease
2. Or gear bearing damage .
Excessive noise 3.Tear open after assembly bad or (Check exchange or gear bearings

Check assembly of all parts and repair|

knock inst
nock agains Cashing or bumping them parts

. 1.Grounding failure or no grounding 1.check and repair the ground
Chassis charged . . .
2.Internal conductors and chassis 2.Check and repair internal wires
Limit mechanism . Case rises, make the hook decline
grounding

failure and instructions
and execution of lifting
Contrary result

switch wire rope end and completely
off the tube, and then begin to work
properly

Improper operation of wire rope around
in reverse caused cylinder

-7-



DRAWING FOR FIXATION

TWINGED MANNER OF ROPE

NO NO OK
THE ELECTRIC HOIST ELECTRICAL WIRING DIAGRAM

o |







PA SERIES ELECTRIC HOIST OTHER PARTS LIST

senal JANnother piece name  [waniy 7@ |/Another piece name quantity

1 |Fixed frame 1 45  |Flat gasket @3 2
, [Cross slots countersunk screws Cross slots countersunk head screws

M8*22 4 46 |M3*6 1
3 |Fixing ring 2 47 |Wind leaf 4
4 |Hexagon bolts M8*25 4 48 |Motor liner 1
5 |Outer profile lock washer @8 4 49 |Cone end set screw M6*8 1
6  |Fixed frame nut 4 50 _[terminals 1
7 ] Cross slots up-do self-drilling screws

Supporting set 1 51 |ST24*14 1
8 |Strong cylinder gasket 1 52 |Insert sheet(concave) 6
9 |Rope cylinder 1 53 |Insert levy supply stores 6
10 |Wire rope 12M | 54 |Cross slots self-drilling screws ST35*12 | 6
11 |weights 1 55 |Cable clips 4
12 |Riveting nieces 1 56 |Wiring cover 1
13 |Rope casing ring 1 57 _|Flat gasket 4
14 Cross slots supplied non-head screws

Hook 2 58 |M4*20 4
15 |Hex rope cylinder shaft 2 59 |Cable plug 1
16  [limit frame 1 60 |Three core cable 1
17 |Hex screws M8*45 1 61 __|Cable protect circle(small) 3
18 |Cylindrical dowel @3 2 62 _|Cross slots panhead screws M4*8 1
19 [Flat key M5*14 2 63 |Flat gasket 1
20 |Circlips for shaft ¢7 1 64 |Grounding slice 1
21 |Bearing60202 4 65 _|Four core cable 1
22 |Limit spring 1 66 __|Cable protect circle(big) 1
23 [Threaded stud 1 67 _|Cable protect circle(small) 1
24 |Gear box 1 68 |Two core cable 1
25 |Cross slots pau hed screws M5*14 2 69 |Small cable protect circle 1
26 |Flat gasket 5 1 70 [Travel switch box 1
27 |Hexagon boltsM5*14 5 71 |Openings block circle 1
28 |Grower washer 5 5 72 |Switch shaft 1
29 |lIntermediate shaft 1 73 [Travel switch 1
30 Cross slots up-do self-drilling screws

Secondary gear 1 74 |ST35*14 1
31 |super gear 1 75 |Travel switch cover 1
32 . . Cross slots supplied pan-head screws

Sealing ring 1 76 3*28 2
33 |Bearing60200 2 77__|Sliding axle 1
34 |Former cover 1 78 |Pin shaft 1
35 [The rotor 1 79 |Cotter pin 1
36 [The stator 1 80 |pulley 1
37 |chassis 1 81 [Pulley stents 2
38 [spring 1 g2 |Flat gasket 1
39  |Brake component 1 83 _|Lifting switch 1
40 |cover 1 84 |Handles cover 1
41 |Hexagon boltsM4* 175 4 85 |handles 1
42 [Flat gasket @5 4 86 |Cable sheath 1
43 |Grower washers@5 4 87 _|Cross slots self-drilling screws st35*20 3
44 Back cover 1 88 |capacitance 1

-10 -




VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support

-1 -


https://www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie électronique
www.vevor.com/support

PALAN ELECTRIQUE A CABLE
MANUEL D'UTILISATION

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are
actually saving half in comparison with the top major brands.

-12 -


https://www.vevor.com/support

‘ r L2
EVOR ELECTRIC WIRE ROPE HOIST

TOUGH TOOLS, HALF PRICE

MODELE : PA800 /PA1000

(L'image est a titre indicatif uniquement ; veuillez vous référer a l'objet réel)

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.

-1-



SAFETY INSTRUCTION AND PRECAUTIONS

Symbol
Description du symbole
e

@ Avertissement : Pour réduire le risque de blessure, I'utilisateur doit
lire attentivement le manuel d'instructions.

Ce symbole, placé avant un commentaire de sécurité, indique un
type de précaution, d'avertissement ou de danger. Ignorer cet
& avertissement peut entrainer un accident. Pour réduire le risque
de blessure, d'incendie ou d'électrocution, veuillez toujours

suivre les recommandations ci-dessous.

A\ AVERTISSEMENT:

6. Lisez attentivement et comprenez toutes les INSTRUCTIONS
D'ASSEMBLAGE ET D'UTILISATION avant d'utiliser l'appareil.

7. Ce produit peut provoquer des interférences nuisibles. Le
non-respect des régles de sécurité et des autres précautions de
sécurité de base peut entrainer des blessures graves.

8. Avant d'utiliser la tondeuse, assurez-vous que la zone de travail est
propre et bien rangée et évitez que des débris ne génent le
fonctionnement.

9. Pendant I'opération, gardez vos doigts €loignés de la zone d'impact du
pistolet a clous pour éviter toute blessure accidentelle.

10.Lorsque vous utilisez un coupe-saucisse, maintenez une posture
stable et évitez de trembler ou de glisser la main pour garantir que le
clou peut étre fixé avec précision sur I'objet cible.







Nous vous remercions d'avoir acheté le mini palan électrique en notre

INSTRUCTIONS

entreprise . Nous espérons qu'elle pourra vous apporter la commodité dont
vous avez besoin.

Veuillez lire et comprendre attentivement ce manuel avant de réaliser

l'installation et I'exploitation du mini palan électrique,
en particulier le " FONCTIONNEMENT SECURISE " et pour assurer a tous
ceux qui utilisent s le mini palan électrique lisez et comprenez cette partie.

TECHNICAL PARAMETERS FORM

Levage

Levage

Cable

Saisir

modéle | usage Ca(ﬁ)(a();ité Vitesse | Hauteur | Long | Pouvoir -g':\y:i:'l ’;‘/‘(’)tlf
9 (m/min) | (m) (m) (F)
T o [ o | w .
PA200 1= chet 200 s 5 12 450 | 259%-10min
double
H:i”r;‘;‘f;’” 125 10 12 <
PA250 I ochet 50 s 5 12 500 | 20%-10min
double
el I I .
PA300 = ochet 300 s 5 12 550 | 20%-10min
double
H:i”r;f)‘f;’” 200 10 12 <
PA400 I Crochet 12 750 | 5504-10min
400 5 6
double ™ .
Hamegcon Célibataire
simple 250 10 12 s3 220-
PA500 12 900 . 240V~
%roct;et 500 5 6 20%-10min 50-
H e 60 Hz
| | 0 | v o
PABOO Crochet 600 5 6 12 1050 20%-10min
double
H:i’:q‘;f;’” 400 10 12 N
PABO0 1= ohet 500 s 5 12 14501 209%-10min
double
H:i”r;f)‘f;’” 500 10 12 N
PA1000 ™ Grochet 12 1800 | 509%-10min
1000 5 6
double
e |0 | w0 | n .
PA12000 1=¢ ochet 12 2000 590,-10min
1200 5 6
double




Remarque : Classe d'isolation : B ; Degrés de protection : IP40 ; Systéme
de fonctionnement :
Travail en cycle continu (par exemple : S3 25%-10min)



SAFE OPERATION PROCEDURES

Veuillez suivre ces procédures et noter les consignes de sécurité.

lorsque vous utilisez le mini palan électrique :

1. S'il vous plait lisez et comprenez attentivement ce manuel avant I'opération.
Nous devons vérifier réguliérement l'installation du micro-palan électrique pour
répondre aux besoins et faciliter vous appliquez le mini palan électrique.
L'emplacement d'installation Mini palan électrique et confirmer qu'il est solide ou
non.

2. La capacité du mini palan électrique est limitée, veuillez ne pas utilisation
excessive. Et ne l'utilisez pas lorsque vous ne connaissez pas le poids des objets
(y compris les cables suspendus , les rangements enterrés, les cables, les
condoles inclinés) ! Une surcharge pourrait endommager le mini-électrique palan
ou le cable, et augmentent également les facteurs dangereux de I'opération
processus. Nous vous suggérons d'utiliser la poulie pour fonctionner lorsque vous
accrochez sabot, cette méthode peut faire en sorte que la charge soit réduite de
50 %.

3. Le mini palan électrique est congu selon S 3-20% (25%)-10min (a savoir qu'il
fonctionne 2 minutes et doit se reposer 8 minutes ) Veuillez ne pas utiliser en
continu pendant une longue période. L'utilisation continue peut augmenter
facteurs dangereux pendant le fonctionnement, qui endommageront gravement le
moteur.

4. S'il vous platit, ne tirez pas suspendu objets lorsque le mini électrique le palan
fonctionne , sinon, il augmentera la charge du mini palan électrique, et mettre un
mini-palan électrique et un cable métallique dans état de surcharge.

5. Gardez la zone de travail du mini palan électrique propre et bien rangée. laisser
les autres membres du personnel s'approcher et entrer en contact avec le cable
métallique tendu, interdire a quiconque debout sur le dessous en état de
fonctionnement du mini palan électrique.

6. Comme il est nécessaire de changer le cable métallique, sa spécification de
type doit étre cohérente avec le cable d'origine corde.

7. Veuillez mettre des gants en cuir épais et ne pas autoriser le fil corde de votre
main lorsque le cable métallique est en marche, sinon le les lésions du cable
métallique peuvent vous poignarder la main.

-6-



8. A la fin de 'opération , veuillez mettre le cable métallique dans la boite. et
n'utilisez pas directement la main pour diriger et disposer le cable métallique.

9. N'utilisez pas de crochets pour accrocher la corde elle-méme . N'utilisez pas de
micro-corde palan pour accrocher I'objet suspendu, sinon il I' endommagera la
corde elle-méme. Veuillez donc utiliser une autre corde appropriée pour attacher
l'objet.

10. Le dispositif de limitation est une configuration de dispositif de sécurité, il peut
assurez-vous que lorsque le crochet est monté en position limite , il est fermé
lorsque,

1 1. N'utilisez pas de mini palan électrique pour accrocher quelqu'un ou ne I
utilisez pas pour ascenseur habité, ce mini palan électrique ne doit pas étre utilisé
pour le levage.

12. Les positions d'installation du mini palan électrique doivent étre slres Les
panneaux d'avertissement et les signes révélateurs sont dans un état frappant, car
nous en avons besoin.

13.Assurer le fonctionnement du micro-palan électrique pour fonctionner sans
aucune barriére

14. Veuillez ne pas utiliser le mini palan électrique sous l'eau.

15. Veuillez ne pas placer le mini palan électrique sous tension lorsqu'il est en
marche. travaux.

16. Veuillez utiliser le fixation fixe du mini palan électrique fourni, ou vous n'étes
pas sdr.

17. Ne pas reconstruire ou souder le mini palan électrique.

18.Avec l'objet mini crochet de palan électrique, assurez-vous que la corde
cylindre sur cable retenu pendant au moins 3 tours, afin de évitez que le cable
métallique soit trop sollicité par le cylindre du cable lors de la chute.

INSTALLATION

Attention : boite ouverte. Assurez-vous de I'ouvrir et de prendre du ruban
adhésif enroulé autour du
tambour a corde, ce n'est qu'aprées cela que vous pouvez tester la machine, si Si
vous vous précipitez pour tester les machines, cela peut provoquer un
enroulement de la corde et un crash de I'avion.



L'emplacement d'installation du mini-palan électrique est conforme aux
besoins opérationnels.ll est proposé de l'installer dans un support spécial pour
mini-palan électrique, et doit étre solide et fiable.

Il faut éviter le contact direct du cable métallique avec le support de limite,
sinon cela provoquera une défaillance de l'interrupteur de fin de course, ce qui
empéchera le micro-palan électrique de fonctionner correctement. Il faut éviter le
contact direct du cable métallique avec le support de limite, sinon cela provoquera
une défaillance de l'interrupteur de fin de course, ce qui empéchera le micro-palan
électrique de fonctionner correctement.

Ne laissez pas le mini-palan électrique étre exposé a la pluie ou trempé dans
I'eau, la classe de protection du mini - palan électrique est IP40 .

Le mini palan électrique doit utiliser les boulons hexagonaux fixes et plats
rondelles, rondelles élastiques, etc., assurent une installation correcte de tous
composants et serrez les boulons avec la clé dynamométrique fournie annexe «
plan d'installation ». Assurez-vous que I'anneau fixe (ou autre (substitut) appuyez
fermement sur le poteau de montage (tige ronde ou carrée barre). afin que le
corps du micro-palan électrique ne bouge pas ou ne tourne pas

POWER INSTALLATION

La norme de fonctionnement du mini palan électrique est une source
d'alimentation CA monophasée 220-240 V/50-60 Hz , et doit étre utilisée avec une
mise a la terre .

Avertissement : assurez-vous que tous cables et mini palan électrique sur
rotation ou les parties fébriles maintiennent une distance appropriée.

OPERATION

changer

Ne pas actionner l'interrupteur, " interrupteur montant" , " interrupteur
descendant” en état "déconnexion" , "interrupteur d'arrét d'urgence” (uniquement
pour PA1000) en état "réchauffement”, alimentation du moteur du mini palan
électrique déconnectée, mini palan électrique en freinage. Appuyez sur le bouton
"montant commutateur” (prés du cable cbté), le "interrupteur montant” dans la
condition "make up", mini électrique le moteur du palan monte en boucle

-8-



I'alimentation est connectée, mini palan électrique est en état de mouvement. En
méme temps, le crochet est en état de montée.Cliquez "interrupteur qui tombe".
"interrupteur qui tombe" dans le "make up" état, mini moteur de palan électrique
décline la boucle de puissance est connecté le mini palan électrique est en état de
mouvement et le crochet tombe Etat.

Pour le type PA1000, si vous appuyez sur « l'interrupteur d'arrét d'urgence » ,
alors Le moteur électrique du mini palan électrique monte le circuit, la boucle de
chute est déconnecté, appuyez sur "interrupteur montant", "interrupteur
descendant”" mini électrique le palan ne fonctionne pas, doit étre réinitialisé «
interrupteur d'arrét d'urgence », capacité permet au mini palan électrique de
fonctionner normalement.

1. Avertissement : 1. Si le mini palan électrique ne fonctionne pas le courant
doit étre coupé et de bonnes mesures d'isolement doivent étre prises pris. Il est
interdit de suspendre des objets lourds dans les airs pendant une longue période,
afin d'éviter toute déformation permanente ou toute accident.

Inspectez régulierement les boulons et les boulons du mini palan électrique
fixe. cordon d'alimentation, accumulation claire saisonniére dans le palan
électrique en ligne de poussiére et de produits corrosifs liquide.

3. Sile palan électrique est en état de déclin, I'enrouleur du palan électrique
est en dernier recouvert de peinture rouge, le cable métallique ne peut pas
effectuer trois tours. Si continuer a décliner le commutateur, le cable métallique
selon ce qui serait verser autour de la boite a corde , en faisant monter et
descendre le palan électrique opération inversée, ces interrupteurs de fin de
course perdront leur action.

MAINTENANCE

huile

Acheter un nouveau palan électrique miniature a l'intérieur de la note lubrifiant
d'entretien a vie. Lors de I'utilisation d'un mini palan électrique, il peut y avoir un
peu de suintement, surtout lors de la premiére opération. C'est normal, pas besoin
de faire le plein pour le mini palan électrique.

Cable métallique



Le mini palan électrique doit étre inspecté et remplacé périodiquement souvent la
corde. Si le cable métallique s'effilochait, il devrait étre remplacé immédiatement.

FAULT AND EXCLUDING

Le mini palan électrique est souvent utilisé ou mal utilisé , peut apparaissent
divers défauts . Défauts courants, causes et élimination méthodes voir tableau
ci-dessous :

Commun
défauts

raison

Méthode d'élimination

Bouton de levage
manuel pour commuter
Le moteur ne tourne
pas

1. L'alimentation électrique a été
coupée

2. Cablage cassé orlo

3. Interrupteur

4 Dégéts au condensateur

5. (échec du bouton de montée.
réinitialiser le stroker) fragment de
limite d'échec de début

5. Puissance de traitement

6. Vérifiez le cablage et réparez

7. Réparer ou commutateur de

transfert

8. 4 Condensateurs d'échange
Vérifiez le cadre de limite ou

remplacez le commutateur de

course

Levez le bouton de la
main pour commuter.
Le bruit du moteur est

important.
Imnonssihle de

1. La tension d'alimentation est trop
faible

2. Dégats au niveau du condensateur
3. Contact de commutation indésirable

4. Ajuster la tension
5. Condensateurs d' échange

Réparation ou transfert de
commutateur. Veuillez nous

Panne de frein ou
glissement important

S'il te plait contact nous ou les unités
de vente

Excessif bruit

3. Mauvaise lubrification

4. Ou dommages au roulement
d'engrenage

3. Ouvrir aprés assemblage mauvais

4. Ajoutez la graisse

\Vérifiez les roulements de rechange
ou d'engrenage

\Vérifier I'assemblage de toutes les

Chassis chargé

1. Défaillance de la mise a la terre ou
absence de mise a la terre

2. Conducteurs internes et chassis

1. vérifier et réparer le sol

2. Vérifiez et réparez les fils internes

Mécanisme de
limitation

échec et instructions et
I'exécution de levage C
ontraire résultat

mise a la terre

Un mauvais fonctionnement du cable
métallique en marche arriere a
provoqué un cylindre

Le boitier monte, faites baisser le
crochet et changez le fil extrémité de
la corde et completement hors du
tube, puis commencez a fonctionner

correctement

-10 -



DESSIN POUR FIXATION

MANIERE TORDUE DE LA CORDE

NO MO DK
SCHEMA DE CABLAGE ELECTRIQUE DU PALAN ELECTRIQUE

o |

T f
Tl aizh llpltll-l'll!l' unqp-.-.-mt;pn;.r. mialar




-12-



PA SERIES ELECTRIC HOIST OTHER PARTS LIST

En s En série Y
sie Un autre nom de piéce |wanic omre |Un autre nom de piece  fouantie
1 |Chassis fixe 1 45  |Joint plat ¢ 3 2
2 is a téte fraisée a fentes cruciformes Vis a téte fraisée a fentes cruciformes
M8*22 4 46 |M3*6 1
3 |Bague de fixation 2 47 |Feuille de vent 4
4 |Boulons hexagonaux M8*25 4 48 |Revétement de moteur 1
5 |Rondelle de blocage a profil extérieur | 4 49 |Vis de serrage a extrémité conique M6*8| 1
6 |Ecrou de cadre fixe 4 50 |terminaux 1
7 Fentes croisées vis autoperceuses a téte
Ensemble de support 1 51 |bombée ST24*14 1
8 |de cylindre robuste 1 52 |Feuille d'insertion (concave) 6
9 |Cylindre de corde 1 53 [Insérer des magasins . 6
10 |Cable métallique 1oMm | 54 \’f@helgt‘operceuses afentes cruciformes | ¢
11 |poids 1 55 |Serre - cables 4
12 |Niéces fascinantes 1 56 |Couvercle de cablage 1
13 |Anneau de boitier de corde 1 57 |Joint plat 4
" |crochet 2 58 |Vis cruciformes M4*20 fournies sans téte| 4
15 |Arbre cylindrique a corde hexagonale 2 59 _|Fiche de cable 1
16 [cadre limite 1 60 |Céble & trois conducteurs 1
17 |Vis a téte hexagonale M8*45 1 61 |Cercle de protection de cable (petit) 3
18 [Cheville cylindrique @ 3 2 | e2 |Visatéte cylindrique a fentes 1
19 |Clé plate M5*14 2 63 |Joint plat 1
20 |Circlips pour arbre ¢ 7 1 64 [Tranche de mise a la terre 1
21 |Roulement 60202 4 65 _|Cable a quatre conducteurs 1
22 |Ressort de limite 1 66 __|Cercle de protection de cable ( grand ) 1
23 |Goujon fileté 1 67 |Cercle de protection de cable ( petit ) 1
24 |Boite de vitesses 1 68 |Cable a deux conducteurs 1
25 |\Vis a téte cruciforme M5*14 2 69 |Petit cercle de protection de cable 1
26 |Joint plat 5 1 70 |Boitier de commutation de voyage 1
27 |Boulons hexagonaux M5*14 5 71__|Cercle de blocage des ouvertures 1
28 |Laveuse Grower 5 5 72 |Arbre de commutation 1
29 |Arbre intermédiaire 1 73 _|Interrupteur de déplacement 1
30 ] Vis autoperceuses a fentes cruciformes
Engrenage secondaire 1 74 |ST35*14 1
31 |super équipement 1 75 _|Couvercle de l'interrupteur de voyage 1
32 o o Vis a téte cylindrique cruciforme M3*28
Bague d'étanchéité 1 76 _|fournies 2
33 |Roulement 60200 2 77__|Essieu coulissant 1
34 |Ancienne couverture 1 78 |Arbre a broches 1
35 |Le rotor 1 79 |Goupille fendue 1
36 |Le stator 1 80 |poulie y 1
37 |chassis 1 81 |Poulie et stents 2
38 |printemps 1 g2 |Joint plat 1
39 |Composant de freinage 1 83 |Interrupteur de levage 1
40 |couverture 1 84 |[Couvre poignées 1
41 |Boulons hexagonaux M4* 175 4 85 |poignées 1
42 |Joint plat @ 5 4 86 |Gaine de cable 1
43 |Rondelles Grower ¢ 5 4 87 Vis'_elutoperceuses a fentes cruciformes 3
44 |Quatrieme de couverture 1 88 [capacitance 1

-13-




VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie électronique
www.vevor.com/support

-14 -


https://www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support

ELEKTRISCHER SEILZUG
BENUTZERHANDBUCH

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are
actually saving half in comparison with the top major brands.

-15-


https://www.vevor.com/support

‘ r L2
EVOR ELECTRIC WIRE ROPE HOIST

TOUGH TOOLS, HALF PRICE

MODELL: PA800 / PA1000

(Das Bild dient nur als Referenz. Bitte beziehen Sie sich auf das tatsachliche
Obijekt.)



NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to

contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.

SAFETY INSTRUCTION AND PRECAUTIONS

Symbol | Symbol Beschreibung

@ Achtung: Um das Verletzungsrisiko zu verringern, muss der
Benutzer die Bedienungsanleitung sorgfaltig lesen.

Dieses Symbol vor einem Sicherheitshinweis weist auf eine
Vorsichtsmaflinahme, Warnung oder Gefahr hin. Das Ignorieren
& dieser Warnung kann zu einem Unfall fiihren. Um das Risiko von
Verletzungen, Branden oder Stromschlagen zu verringern,
befolgen Sie bitte immer die unten aufgeflihrten Empfehlungen.

£ WARNUNG:

11.MONTAGE- UND BEDIENUNGSANLEITUNGEN vor der
Inbetriebnahme sorgfaltig durch und stellen Sie sicher, dass Sie sie
verstanden haben .

12.Dieses Produkt kann Stérungen verursachen. Die Nichtbeachtung
der Sicherheitsregeln und anderer grundlegender
Sicherheitsvorkehrungen kann zu schweren Verletzungen flihren.

13.Stellen Sie vor der Verwendung des Haarschneiders sicher, dass der
Arbeitsbereich sauber und aufgeraumt ist und vermeiden Sie, dass
Schmutz die Funktion behindert.

-2-



14.Halten Sie wahrend des Vorgangs lhre Finger vom Aufprallbereich des
Nagelschussgerats fern, um versehentliche Verletzungen zu
vermeiden.

15.Achten Sie beim Verwenden eines Nagelknipsers auf eine stabile
Haltung und vermeiden Sie ein Zittern oder Abrutschen der Hand, um
sicherzustellen, dass der Nagel prazise auf dem Zielobjekt fixiert
werden kann.



INSTRUCTIONS

Vielen Dank fiir den Kauf des Mini-Elektro-Hebezeugs in unser Unternehmen .
Wir hoffen, dass es lhnen den Komfort bieten kann, den Sie brauchen.

Bitte lesen Sie dieses Handbuch sorgfaltig durch, bevor Sie es verwenden.
machen die installation und bedienung der mini elektrische hebe,
insbesondere die " SICHERER BETRIEB " und um sicherzustellen, dass jeder,
der s verwendet Lesen und verstehen Sie diesen Teil zum elektrischen
Mini-Hebezeug.

TECHNICAL PARAMETERS FORM

Eingan
: Heben Hebe | Kabe :
M Verwendun Kapazit Geschwindigk n | 9 Arbeite | Bewert
odell at eit Héhe | Lan Leistun n et
9 (kg) . 9 g Pflicht Volt
(m/min) (M) (M) (F)
Einzelhaken 100 10 12 S3
PA200 12 450 | 28%-
Doppelhaken 200 5 6 10
Minuten
Einzelhaken 125 10 12 S3
PA250 12 500 | 20%-
Doppelhaken 250 5 6 10
Minuten
Einzelhaken 150 10 12 S3
PA300 12 550 | 20%-
Doppelhaken 300 5 6 10
Minuten
Einzelhaken 200 10 12 S3
PA400 12 750 | %"
Doppelhaken 400 5 6 10
Minuten .
Einzelhaken 250 10 12 S3 Einzel
20 % - 220-
PASO0 | poppetnaken | 500 5 6 12 900 10 290V
Minuten 60 Hz
Einzelhaken 300 10 12 S3
PAGOO 12 1050 | 207%-
Doppelhaken 600 5 6 10
Minuten
Einzelhaken 400 10 12 S3
PAS00 12 1450 | 207%-
Doppelhaken 800 5 6 10
Minuten
Einzelhaken 500 10 12 S3
PA1000 12 1800 | 20%-
Doppelhaken 1000 5 6 10
Minuten
Einzelhaken 600 10 12 S3
PA1200 20 % -
0 Doppelhaken 1200 5 6 12 2000 10
Minuten

Hinweis: Isolierklasse: B; Schutzgrad: IP40; Arbeitssystem:
-4 -




Fortlaufende Zyklusarbeit (zum Beispiel: S3 25 % - 10 Min.)



SAFE OPERATION PROCEDURES

Bitte befolgen Sie diese Anweisungen und beachten Sie die
Sicherheitshinweise

bei der Verwendung des elektrischen Mini-Hebezeugs:

1.Bitte Lesen und verstehen Sie dieses Handbuch sorgfaltig, bevor Sie der Betrieb.
Wir missen regelmaRig die Installation von Mikro-Elektro-Hebezeugen tberpriifen,
um den Anforderungen gerecht zu werden und zu erleichtern Sie verwenden den
Mini-Elektro-Hebezeug. Der Installationsort Mini elektrischen Hebezeug und
vergewissern Sie sich, dass es stabil ist oder nicht.

2.Die Kapazitat des Mini-Elektrohebezeugs ist begrenzt, bitte nicht Uberlastung.
Und verwenden Sie es nicht, wenn Sie das Gewicht nicht kennen der Objekte
(einschlieflich hangender Pull | vergrabener Stauraum, Kabel, geneigte Condole)!
Uberladung kann den Mini-Elektro beschadigen Hebezeug oder Seil und erhéhen
auch unsichere Faktoren des Betriebs Prozess. Wir empfehlen, die Seilrolle zu
verwenden, wenn Sie einhaken verstopfen, kann diese Methode Reduzieren Sie
die Last um 50 %.

von 3 - 20 % (25 %) bis 10 Minuten ausgelegt (d. h. er arbeitet 2 Minuten und

muss dann 8 Minuten ruhen) . Bitte nicht Gber einen langen Zeitraum kontinuierlich
verwenden. Die kontinuierliche Verwendung kann unsichere Faktoren wahrend
des Betriebs, die den Motor ernsthaft beschadigen kénnen.

4 Bitte nicht ,.ziehen® ausgesetzt Gegenstande, wenn der Mini-Elektro Hebezeug

ist in Betrieb, sonst erhoht sich die Belastung des Mini Elektrohebezeug, und
setzen Sie Mini-Elektrohebezeug und Drahtseil in Uberlastungszustand.

5.Halten Sie den Arbeitsbereich des Mini-Elektrohebezeugs sauber und ordentlich.
Lassen Sie andere Personen in die Nahe und beriihren Sie das gespannte
Drahtseil. Unten stehend im Betriebszustand des elektrischen Mini-Hebezeugs.
notwendig ist , Wenn Sie das Drahtseil wechseln, muss seine Typspezifikation mit
der des Originaldrahtes tbereinstimmen Seil.

7. Ziehen Sie dicke Lederhandschuhe an und Draht zulassen Seil von der Hand
Uber, wenn Drahtseil in der Arbeit, sonst die Verletzungen durch Drahtseile kdnnen
zu Stichverletzungen in der Hand fihren.

-6-



8. Am Ende des Betriebs legen Sie bitte das Drahtseil in den Kanister und
verwenden Sie die Hand nicht direkt zum Fihren und Ausrichten des Drahtseils.
9. Verwenden Sie die Haken nicht zum Einhaken des Seils selbst . Verwenden Sie
kein Mikroseil Hebezeug zum Aufhangen des Objekts verwenden, da es sonst zu
Beschadigungen des Benutzen Sie daher bitte ein anderes geeignetes Seil um
das Objekt zu befestigen.

10. Begrenzungsvorrichtung ist als Sicherheitsvorrichtung konfiguriert, sie kann
stellen Sie sicher, dass der Haken in die Endposition gehoben wird , wenn

1 1.Verwenden Sie den elektrischen Mini-Hebezeug nicht, um jemanden
anzuhangen oder ihn fir Dieser elektrische Mini-Hebezeug ist kein bemannter
Aufzug, sondern darf nicht zum Heben verwendet werden .

12.Mini elektrische Hebezeug Installationspositionen missen sicher sein, die
Warnzeichen und Kontrollmarkierungen sind in auffallendem Zustand, denn wir
brauchen sie.

13.Stellen Sie sicher, dass der Mikro-Elektro-Hebezeug ordnungsgeman
funktioniert ohne Barriere

14. Bitte betreiben Sie den elektrischen Mini-Hebezeug nicht im
Trinkwasserbereich.

15.Bitte nicht unter dem Mini-Elektro-Hebezeug herumlaufen, wenn es
funktioniert.

16. Bitte verwenden Sie die Feste Befestigung des Mini-Elektrohebezugs
bereitgestellt, oder Sie sind unsicher.

Mini-Elektrohebezeug nicht optional umbauen oder schweillen

18.Stellen Sie beim Mini-Elektro-Hebehaken sicher, dass das Seil Zylinder auf
mindestens 3 Runden Drahtseil gehalten, um Verhindern Sie, dass das Drahtseil
beim Abwerfen durch den Seilzylinder zu stark beansprucht wird.

INSTALLATION

Achtung: Offene Schachtel. Offnen Sie unbedingt das Klebeband und
nehmen Sie es mit. gewickelt um die
Seiltrommel, erst danach kénnen Sie die Maschine testen, wenn Wenn Sie die
Maschinen in aller Eile testen, kann es passieren, dass sich das Seil zurtickspult
und das Flugzeug abstirzt.



Der Standort der Mini-Elektrohebeanlage ist nach je nach
Betriebsbedarf.Vorgeschlagen wird die Installation in einer speziellen Halterung
fir Mini-Elektrohebezeuge und sollte solide und zuverlassig sein.

Der direkte Kontakt des Drahtseils mit der Grenzstange sollte vermieden
werden, da dies sonst zu einem Ausfall des Endschalters und damit zu einer
Funktionsbeeintrachtigung des mikroelektrischen Hebezeugs fihrt. Der direkte
Kontakt des Drahtseils mit der Grenzstange sollte vermieden werden, da dies
sonst zu einem Ausfall des Endschalters und damit zu einer
Funktionsbeeintrachtigung des mikroelektrischen Hebezeugs flhrt.

Elektrohebezug nicht dem Regen oder Bei Wasserkontakt betragt die
Schutzklasse des Mini - Elektrohebezugs IP40 .

Mini elektrische Hebezeug muss die festen Sechskantschrauben verwenden,
flach Unterlegscheiben, Federscheiben usw., sorgen Sie flr die ordnungsgemale
Installation aller Komponenten und ziehen Sie die Schrauben mit dem

beiliegenden Drehmomentschliissel fest Anhang ,,Installationsplan “. Stellen Sie

sicher, dass der feste Ring (oder ein anderer Ersatz) die Befestigungsstange
(Rundstange oder Vierkantstange) fest andriicken bar), so dass sich der Korper
des Mikro-Elektro-Hebezeugs nicht bewegt oder dreht

POWER INSTALLATION

Der Mini -Elektrohebezug wird standardmaRig mit einer einphasigen

Wechselstromquelle (220 - 240 V/50 - 60 Hz ) betrieben und muss mit Erdung

verwendet werden .
Achtung: Stellen Sie sicher, dass alle Kabel und Mini-Elektrohebezeug auf
Dreh- oder Fieberteile halten den richtigen Abstand ein.

OPERATION

schalten



Sie nicht den Schalter ,, Aufwartsschalter “ , ,, Abwartsschalter “ in der

Form ,,Trennen “ , ,,Notstoppschalter “ (nur fiir PA1000) im Zustand ,,Aufbau “,

Mini-Elektrohebezeugmotorstromversorgung getrennt, Mini-Elektrohebezeug

bremst. Driicken Sie die Taste ,,Aufsteigend “. Schalter"(in der Nahe des Kabels

Seite), der "steigende Schalter" im "Make-up"-Zustand, Mini-Elektro
Hebezeugmotor steigt Schleife die Stromversorgung ist verbunden, Mini
elektrische Hebezeug ist im Bewegungszustand. Gleichzeitig steigt der
Hakenstatus.Klick "fallender Schalter". "fallender Schalter" im "Make-up" Zustand,
Mini-Elektro-Hebezeug Motor Riickgang Schleife die Macht ist verbunden mini
elektrische hebe ist in bewegung zustand, und haken fallen Zustand.

Beim Typ PA1000: Wenn Sie den ,,Notstoppschalter “ driicken , Mini

elektrische Hebezeug Elektromotor steigt Schaltung, Drop-Schleife ist getrennt,
driicken Sie " steigender Schalter", " fallender Schalter" Mini-Elektro Hebezeug
lauft nicht, muss zurtickgesetzt werden" dringender Stoppschalter”, Fahigkeit
sorgt dafiir, dass der elektrische Mini-Hebezeug normal funktioniert.

1.Warnung: 1.Wenn der elektrische Mini-Hebezeug nicht funktioniert Die
Stromversorgung sollte abgeschaltet werden und gute Isolationsmalinahmen
sollten getroffen werden genommen. Es ist verboten, schwere Gegenstande in die
Luft zu hangen fir eine lange Zeit, um dauerhafte Verformungen oder Unfall.

RegelmaRige Uberpriifung der festen Mini-Elektrohebezeuge die Bolzen und
die Netzkabel, saisonale klare Ansammlung im elektrischen Hebezeug online von
Staub und korrosiven flissig.

4. Wenn die elektrische Hebezeug im Niedergang Zustand, elektrische
Hebezeug Rolle letzten mit roter Farbe beschichtetes Drahtseil kann drei Runden
nicht I6sen. Wenn weiterhin Schalter ablehnen, Drahtseil nach, dass wiirde
GielRen Sie das Seil um den Seilbehalter und lassen Sie den elektrischen
Hebezeug auf und ab Bei umgekehrter Betriebsart verlieren solche Endschalter
ihre Funktion.



MAINTENANCE
(o]
Kauf eines neuen Miniatur-Elektro-Hebezeug im Inneren Hinweis haben
lebenslanges Wartungsschmiermittel. Beim Betrieb von Mini-Elektrohebezeugen
Es kann zu etwas Nasse kommen, besonders bei der ersten Operation. Dies ist
Normalerweise muss der Mini-Elektrohebezug nicht aufgetankt werden.
Drahtseil
Mini-Elektrohebezeuge missen regelmafig Gberpriift und ausgetauscht werden
haufig das Seil. Wenn das Drahtseil ausgefranst ist, sollte ersetzt werden sofort.

FAULT AND EXCLUDING

Mini-Elektro-Hebezeuge oft verwendet oder unsachgemaf’ bedient werden ,
kann erscheinen verschiedene Fehler . Haufige Fehler, Ursachen und Beseitigung

Methoden , siehe Tabelle unten:

Gemeinsam
Fehler

Grund

Eliminationsmethode

Handhebeknopf zum
Umschalten
Motor dreht sich nicht

1. Das Netzteil wurde durch

2. Verkabelung defekt orlo

3. Schalter

4 Kondensatorschaden

5. (Kletterknopffehler. Zuriicksetzen
oder der Stroker) Beginn des
Fehlergrenzfragments

6. Der abrupte Stoppschalter wird nicht]

9. Verarbeitungsleistung

10. Verkabelung prifen und

reparieren

11. Reparatur oder Umschalter

12. 4 Kondensatoren austauschen
Endlagendéampfung prifen oder

Wegschalter austauschen

10 Ahriintan Qf, halt,

Handhebeknopf zum
Einschalten.
Motorgerausche grofR
Kann nicht normal
starten

1. Die Versorgungsspannung ist zu
niedrig

2. Kondensatorschaden

3. Schaltkontakt unerwiinscht

7. Spannung anpassen
8. Austauschkondensatoren

Reparatur oder Umschaltung. Bitte
kontaktieren Sie uns oder die

Bremsversagen oder
starkes Abrutschen

Bitte Kontakt uns oder die
Verkaufseinheiten

UberméaBig Larm

5. Schlechte Schmierung

6. Oder ein Getriebelagerschaden
3. Nach der Montage aufreifen
schlecht oder klopfen gegen

7. Das Fett hinzufligen
Austausch- oder Getriebelager priifen
Montage priifen aller Teile und
Reparatur Einlésen oder

Chassis aufgeladen

1. Erdungsfehler oder keine Erdung

2. Innenleiter und Chassis

1. Boden priifen und reparieren

2. Interne Kabel priifen und

-10 -

reparieren




Begrenzungsmechanis
mus

Versagen und
Anweisungen und
Ausflihrung des

Erdung

Unsachgeméaler Betrieb des
Drahtseils im Rickwartsgang
verursachte Zylinder

Fall steigt, machen den Haken

Rickgang Schalter Draht Seilende
und vollstandig aus dem Rohr, und
dann beginnen , richtig zu arbeiten

-1 -




ZEICHNUNG ZUR BEFESTIGUNG

Geflochtenes Seil
NEO NO DK
DER ELEKTRISCHE HEBEBAU - SCHALTPLAN

e |

Famiaz= AN




-13-



PA SERIES ELECTRIC HOIST OTHER PARTS LIST

Eirﬁﬂfn"w Em &%‘;ﬂgr venge [NummerEin anderer Stiickname  |venge
1 |Fester Rahmen 1 45  |Flachdichtung ¢ 3 2
» [Kreuzschlitz Senkkopfschrauben )

M8*22 4 46 |Kreuzschlitz Senkkopfschrauben M3*6 1
3 |Befestigungsring 2 47 [Windblatt 4
4 |Sechskantschrauben M8*25 4 48 [Motorliner 1
5 |AuRenprofil - Sicherungsscheibe ¢ 8 4 49 |Konus-Stellschraube M6*8 1
6 |Feste Rahmenmutter 4 50 |Klemmen 1
7 ) Kreuzschlitze Up-do-Bohrschrauben

Unterstitzendes Set 1 51 |ST24*14 1
8 [Starke Zylinderdichtung 1 52 |Einlegeblatt (konkav) 6
9  [Seilzylinder 1 53 |Abgabenvorrate eintragen 6
10 |Drahtseil 2 54 _|Kreuzschlitz-Bohrschrauben ST35%12 6
11 |Gewichte 1 55 _|Kabelclips 4
12 |Fesselnde Nichten 1 56 |Verdrahtungsabdeckung 1
13 [Seilmantelring 1 57 _|Flachdichtung 4
14 Kreuzschlitzschrauben mitgeliefert ,

Haken 2 58 |Flachkopf M4*20 4
15 |Sechskant - Seilzylinderschaft 2 59 |Kabelstecker 1
16 |Grenzrahmen 1 60 |Dreiadriges Kabel 1
17 |Sechskantschrauben M8*45 1 61 __|Kabelschutzkreis (klein) 3
18 |Zylinderdiibel ¢ 3 2 62 |Kreuzschlitz-Linsenkopfschrauben M4*8| 1
19 |[Flachschlissel M5*14 2 63 |Flachdichtung 1
20 |Sicherungsringe fir Welle ¢ 7 1 64 |Erdungsscheibe 1
21 |Lager60202 4 65 |Vieradriges Kabel 1
22 |Begrenzungsfeder 1 66 |Kabelschutzkreis ( groR ) 1
23 |Gewindebolzen 1 67 |Kabelschutzkreis ( klein ) 1
24 |Getriebe 1 68 |Zweiadriges Kabel 1
25 |Kreuzschlitzschrauben M5 * 14 2 69 |[Kleiner Kabelschutzkreis 1
26 |Flachdichtung 5 1 70 |Fahrschalterkasten 1
27 |SechskantschraubenM5*14 5 71__|Offnungen Block Kreis 1
28 |Grower Waschmaschine 5 5 72 |Schalterwelle 1
29  [Zwischenwelle 1 73 |Fahrschalter 1
30 Sekundargetriebe 1 74 |Kreuzschlitz-Bohrschrauben ST35*14 1
31 |super ausriistung 1 75__|Fahrschalterabdeckung 1
32 |- . Kreuzschlitze mitgelieferte

Dichtungsring 1 76 _|Linsenkopfschrauben M3*28 2
33 |Lager60200 2 77__|Schiebeachse 1
34 |[Ehemalige Abdeckung 1 78 |Stiftschaft 1
35 |Der Rotor 1 79 _|Splintbolzen 1
36 |Der Stator 1 80 |ziehey 1
37 |Chassis 1 81 [Pulle y Stents 2
38 [Frihling 1 g2 |Flachdichtung 1
39 |Bremskomponente 1 83 |Hubschalter 1
40 |Abdeckung 1 84 |Griffe abdecken 1
41 |SechskantschraubenM4* 175 4 85 |Griffe 1
42 |Flachdichtung ¢ 5 4 86 |Kabelmantel 1
43 |Grower-Unterlegscheiben ¢ 5 4 87 _|Kreuzschlitz-Bohrschrauben st35*20 3
44 |Ruckseite 1 88 |Kapazitat 1

-14 -




VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat
www.vevor.com/support

-15-


https://www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia elettronica
www.vevor.com/support

PARANCO ELETTRICO A FUNE
MANUALE D'USO

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are
actually saving half in comparison with the top major brands.

-16 -


https://www.vevor.com/support

‘ r L2
EVOR ELECTRIC WIRE ROPE HOIST

TOUGH TOOLS, HALF PRICE

MODELLO:PA800 /PA1000

(L'immagine & solo a scopo illustrativo; fare riferimento all'oggetto reale)

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.

-1-



SAFETY INSTRUCTION AND PRECAUTIONS

Simbol
Descrizione del simbolo
o

@ Attenzione: per ridurre il rischio di lesioni, I'utente deve leggere
attentamente il manuale di istruzioni.

Questo simbolo, posto prima di un commento sulla sicurezza,
indica un tipo di precauzione, avviso o pericolo. Ignorare questo
& avviso puo causare un incidente. Per ridurre il rischio di lesioni,
incendi o folgorazione, seguire sempre le raccomandazioni
indicate di seguito.

£} AVVERTIMENTO:

16.leggere attentamente e comprendere tutte le ISTRUZIONI DI
MONTAGGIO E FUNZIONAMENTO .

17.Questo prodotto pud causare interferenze dannose. La mancata
osservanza delle norme di sicurezza e di altre precauzioni di
sicurezza di base pud causare gravi lesioni personali.

18.Prima di utilizzare il tagliacapelli, assicurarsi che I'area di lavoro sia
pulita e ordinata ed evitare che detriti ne ostacolino il funzionamento.

19.Durante 'operazione, tenere le dita lontane dalla zona di impatto della
pistola sparachiodi per evitare lesioni accidentali.

20.Quando si utilizza un tagliaunghie, mantenere una postura stabile ed
evitare di tremare o scivolare la mano, per garantire che il chiodo
possa essere fissato con precisione sull'oggetto bersaglio.







INSTRUCTIONS

Grazie per aver acquistato il mini paranco elettrico in la nostra azienda . Ci
auguriamo che possa portare la comodita di cui hai bisogno.
Si prega di leggere e comprendere attentamente questo manuale prima di
effettuare l'installazione e la messa in funzione del mini paranco elettrico,

in particolare il " FUNZIONAMENTO SICURO " e per garantire a tutti coloro
che utilizzano s il mini paranco elettrico leggere e comprendere questa parte.

TECHNICAL PARAMETERS FORM

Capacit Sollevament | Sollevament | Cavo | Ingress | Lavor
modello | utilizz R o o Lung o o Valutato
o] (kg) Velocita Altezza 0 Energia | dover Volt
9 (metri/min) (M) (M) 1) e
Gancio S3
i 100 10 12
PA200 ggg;:g 12 as0 | 2%
gancio 200 5 6 minuti
Gancio S3
A 125 10 12
PA250 E‘ggg:g 12 s00 | 2001
gancio 250 5 6 minuti
Gancio S3
i 150 10 12
PA300 ggg;:g 12 s50 | 207
gancio 300 5 6 minuti
Gancio S3
: 200 10 12
PA400 209010 12 750 | %01
opplo 400 5 6 -
gancio minuti Separar
Gancio S3 e
singolo | 290 10 12 20%1 | 220-
PA500 Doppio 12 900 0 240V~
gancio 500 5 6 minuti 50-
Ganco | 300 10 12 2030/31 60 Hz
PAG00 Eoggig 12 1050 o
gancio 600 5 6 minuti
Gancio S3
i 400 10 12
PAS00 ggg;:g 12 1450 | 207
gancio 800 5 6 minuti
Gancio S3
8 500 10 12
PA1000 gggg:g 12 1800 | 2001
gancio 1000 5 6 minuti
Gancio S3
PA1200 | singolo | 690 10 12 12 000 | 20%1
0 Doppio | 4509 5 6 0
gancio minuti

Nota: Classe di isolamento: B; Gradi di protezione: IP40; sistema di lavoro:
Lavoro ciclico continuo. (ad esempio: S3 25%-10min)

-4-




SAFE OPERATION PROCEDURES

Si prega di seguire queste procedure e di osservare le norme di sicurezza
quando si utilizza il mini paranco elettrico:

1.Per favore leggere e comprendere attentamente questo manuale prima
I'operazione. Dobbiamo controllare regolarmente l'installazione del paranco
microelettrico per soddisfare le esigenze e per facilitare si applica il mini paranco
elettrico. La posizione di installazione Mini paranco elettrico e verificare che sia
solido o meno.

2. La capacita del mini paranco elettrico € limitata, si prega di non uso eccessivo.
E non usarlo quando non si conosce il peso degli oggetti (inclusi stivaggio
sospeso , cavi, condoglianze inclinate)! Il sovraccarico potrebbe danneggiare il
mini elettrico paranco o la fune, e aumentano anche i fattori di rischio
dell'operazione processo. Suggeriamo di utilizzare la puleggia per azionare
quando si aggancia intasare, questo metodo pud ridurre il carico del 50%.

3. Il mini paranco elettrico & progettato secondo S 3-20% (25%) -10 min (vale a
dire che funziona per 2 min e deve riposare per 8 min) Per favore non usare
continuo per molto tempo. L'uso continuo pud aumentare fattori non sicuri durante
il funzionamento, che possono danneggiare gravemente il motore.

4. Per favore non "tirare" sospeso oggetti quando il mini elettrico il paranco
funziona, altrimenti aumentera il carico del mini paranco elettrico e mettere il
mini-paranco elettrico e la fune metallica in condizione di sovraccarico.

pulita e ordinata I'area di lavoro del mini paranco elettrico . Non lasciare che altro
personale si avvicini e tocchi il cavo metallico teso, proibire a chiunque in piedi sul
sottostante stato operativo del mini paranco elettrico.

6. Poiché vi & la necessita di sostituire il cavo metallico, la sua specifica di tipo
deve essere coerente con il cavo originale corda.

7. Si prega di indossare guanti di pelle spessa e non consentire il filo corda dalla
tua mano quando il cavo metallico € in funzione, altrimenti il le lesioni causate dai
cavi metallici potrebbero ferirti la mano.

8. Al termine dell'operazione , riporre il cavo metallico nel contenitore e non usare
le mani direttamente per guidare e disporre i cavi metallici.

9. Non utilizzare ganci per agganciare la corda stessa . Non utilizzare micro-corde
paranco per agganciare l'oggetto sospeso, altrimenti si danneggera | ' corda

-5-



stessa. Quindi si prega di utilizzare un'altra corda appropriata per agganciare
l'oggetto.

10. 1l dispositivo di limite € come una configurazione del dispositivo di sicurezza,
puo assicurarsi che quando il gancio si € alzato fino alla posizione limite sia
spento,

1 1. Non utilizzare il mini paranco elettrico per agganciare qualcuno o utilizzarlo
per ascensore con operatore, questo mini paranco elettrico non deve essere
utilizzato per il sollevamento.

12. Le posizioni di installazione del mini paranco elettrico devono essere sicure i
segnali di avvertimento e i segni rivelatori sono in condizioni evidenti, perché ne
abbiamo bisogno.

13. Garantire il funzionamento del paranco microelettrico per funzionare senza
alcuna barriera

14. Si prega di non utilizzare il mini paranco elettrico in acqua potabile.

15. Si prega di non tenere sotto controllo il mini paranco elettrico quando € in
funzione funziona.

16. Si prega di utilizzare il attacco fisso del mini paranco elettrico fornito, oppure
non sei sicuro.

17. Non ricostruire o saldare il mini paranco elettrico opzionale

18. Con il mini gancio di sollevamento elettrico, assicurarsi che la fune cilindro
mantenuto per almeno 3 giri di fune metallica, al fine di evitare che il cavo
metallico venga sottoposto a troppa sollecitazione a causa del cilindro del cavo
durante il distacco.

INSTALLATION

Attenzione: aprire la scatola. Assicurarsi di aprire e prendere il nastro di carta
avvolto attorno al
tamburo della corda, solo dopo puoi testare la macchina, se se ti precipiti a testare
le macchine, la fune potrebbe riavvolgersi e far schiantare I'aereo.

La posizione dell'installazione del mini-paranco elettrico € conforme alle
esigenze operative.Si propone di installare in una staffa speciale per mini-paranchi
elettrici e devono essere solidi e affidabili.

Evitare il contatto diretto tra fune metallica e cremagliera di limitazione,
altrimenti si verifichera un guasto dell'interruttore di finecorsa, con conseguente

-6-



malfunzionamento del microparanco elettrico. Evitare il contatto diretto tra fune
metallica e cremagliera di limitazione, altrimenti si verifichera un guasto
dell'interruttore di finecorsa, con conseguente malfunzionamento del
microparanco elettrico.

Non lasciare che il mini-paranco elettrico sia esposto alla pioggia o immerso
in acqua, la classe di protezione del mini - paranco elettrico & IP40 .

Il mini paranco elettrico deve utilizzare bulloni esagonali fissi, piatti rondelle,
rondelle elastiche ecc., assicurano la corretta installazione di tutti componenti e
serrare i bulloni con la chiave dinamometrica, allegata allegato "mappa di
installazione". Assicurarsi che I'anello fisso (o altro sostituire) premere con
fermezza il palo di montaggio (asta tonda o quadrata bar). in modo che il corpo del
paranco microelettrico non si muova o ruoti

POWER INSTALLATION

Lo standard di funzionamento del mini paranco elettrico & una fonte di
alimentazione CA monofase 220-240 V/50-60 Hz e deve essere utilizzato con
collegamento a terra .

Attenzione: assicurarsi che tutto cavi e mini paranco elettrico su rotazione o le
parti febbrili mantengono la giusta distanza.

OPERATION

interruttore

Non azionare l'interruttore, " interruttore in salita" , " interruttore in discesa " in
forma di "disconnessione" , "interruttore di arresto urgente" (solo per PA1000) in
stato di "recupero”, alimentazione del motore del mini paranco elettrico scollegata,
mini paranco elettrico in frenata. Premere il pulsante "in salita" interruttore"(vicino
al cavo lato), I"'interruttore di salita" nella condizione di "recupero”, mini elettrico il
motore del paranco si solleva, I'alimentazione € collegata, mini paranco elettrico &
in stato di movimento. Allo stesso tempo il gancio € in stato di salita. Fai clic
"interruttore che cade". "interruttore che cade" nel "make up" condizione, il motore
del mini paranco elettrico rifiuta il ciclo di alimentazione & collegato il mini paranco

elettrico € in stato di movimento e il gancio cade stato.



Per il tipo PA1000, se si preme l'interruttore "arresto urgente" , quindi mini
paranco elettrico motore elettrico circuito di sollevamento, anello di caduta &
scollegato, premere "interruttore di salita", "interruttore di discesa" mini elettrico il
paranco non €& in funzione, deve essere ripristinato "interruttore di arresto urgente”,
capacita fa funzionare normalmente il mini paranco elettrico.

1. Avvertenza: 1. Se il mini paranco elettrico non funziona correttamente
I'alimentazione dovrebbe essere interrotta e dovrebbero essere adottate buone
misure di isolamento preso. E un divieto che oggetti pesanti siano appesi in aria
per lungo tempo, in modo da evitare deformazioni permanenti o qualsiasi
incidente.

Ispezionare regolarmente i bulloni e il paranco elettrico mini fisso cavo di
alimentazione, accumulo libero stagionale nel paranco elettrico in linea di polvere
e corrosivi liquido.

5. Se il paranco elettrico € in stato di declino, l'avvolgitore del paranco
elettrico dura rivestito con vernice rossa di fune metallica non puo rilasciare tre giri.
Se continuare a declinare l'interruttore, il cavo metallico secondo quello sarebbe
versare attorno al contenitore della fune , facendo salire e scendere I'argano
elettrico funzionamento invertito, tali finecorsa perderanno la loro funzionalita.

MAINTENANCE

olio

Acquistare un nuovo paranco elettrico in miniatura all'interno della nota ha
lubrificante di manutenzione a vita. Nel funzionamento del mini paranco elettrico,
potrebbe esserci un po' di melma, soprattutto nella prima operazione. Questo &
normale, non & necessario rifornire di carburante il mini paranco elettrico.

Cavo metallico

Il mini paranco elettrico necessita di ispezione e sostituzione periodiche
frequentemente la fune. Se la fune metallica & sfilacciata, deve essere sostituita
immediatamente.

FAULT AND EXCLUDING



Il mini paranco elettrico pud essere spesso utilizzato o azionato in modo
improprio , pud compaiono vari guasti . Guasti comuni, cause ed eliminazione
metodo s vedi tabella sottostante:

sollevamento manuale
per cambiare
Il motore non gira

4 Danni al condensatore

5. (guasto del pulsante di salita. reset 0|
stroker) frammento limite di guasto
iniziale

6. L'interruttore di arresto brusco non

Con_1um_e motivo Metodo di eliminazione
difetti
1. L'alimentazione é stata interrotta 13. Potenza di elaborazione
2. Cablaggio rotto orlo 14. Controllare il cablaggio e
Pulsante di 3. Cambia riparare

15. Riparare o interruttore di

trasferimento

16. 4 Condensatori di scambio
Controllare il telaio di finecorsa o

sostituire l'interruttore di corsa

Pulsante di
sollevamento manuale
per cambiare il rumore
del motore.
Non riescn ad avviarmi

1. La tensione di alimentazione &
troppo bassa

2. Danni al condensatore

3. Contatto di commutazione
indesiderata

10. Regolare la tensione
11. Condensatori di scambio

Riparazione o interruttore di
trasferimento. Vi preghiamo di

Guasto ai freni o
scivolamento di una
grande quantita

Per favore contatto noi o le unita di
vendita

Eccessivo rumore

7. Cattiva lubrificazione

8. Oppure danni al cuscinetto
dell'ingranaggio

3. Strappare dopo il montaggio cattivo

= +

10. Aggiungere il grasso
Controllare i cuscinetti di scambio o
di ingranaggio

Controllare il montaggio di tutte le

Telaio caricato

1. Guasto o mancanza di messa a
terra

2. Conduttori interni e telaio

1. controllare e riparare il terreno

2. Controllare e riparare i cavi interni

Meccanismo di limite

I'esecuzione di
sollevamento
Contrario _risultato

fallimento e istruzioni e

messa a terra

Il funzionamento improprio del cavo
metallico in retromarcia ha causato il
cilindro

Il caso si alza, fa si che il gancio
rifiuti il filo dell'interruttore estremita
della corda e completamente fuori
dal tubo, e poi pregare di lavorare
correttamente




DISEGNO PER IL FISSAGGIO

MODO INTRECCIATO DELLA CORDA
NO NO OK
SCHEMA ELETTRICO DEL PARANCO ELETTRICO

o |

Tl aizh llpl:-llnnrz;unu wult:& paiinh migiar




-1 -



PA SERIES ELECTRIC HOIST OTHER PARTS LIST

o ggzggro nome del quania pmero [UN altro nome del pezzo fauentia
1 [Telaio fisso 1 45  |Guarnizione piana ¢ 3 2
2 iti a testa svasata con intaglio a Viti a testa svasata con intaglio a croce

croce M8*22 4 46 |M3*6 1
3 |Anello di fissaggio 2 47 |Foglia di vento 4
4 |Bulloni esagonali M8*25 4 48 _|Rivestimento motore 1
5 |Rondella di sicurezza del profilo 4 49 |Vite di fissaggio conica M6*8 1
6 |Dado telaio fisso 4 50 _[terminali 1
7 i Slot incrociati viti autoperforanti up-do

Set di supporto 1 51 |ST24*14 1
8 |Guarnizione del cilindro resistente 1 52 |Inserisci foglio (concavo) 6
9 |Cilindro a fune 1 53 |Inserisci i negozi di fornitura di tasse 6
10 |Cavo metallico 12 | 54 |Viti autoperforanti a croce ST35*12 6
11 |pesi 1 55 _|Fermacavi 4
12 |Nipoti affascinanti 1 56 |Copertura del cablaggio 1
13 |Anello di rivestimento della fune 1 57 _|Guarnizione piatta 4
14 ) Viti senza testa fornite con scanalature

Gancio 2 58 |trasversali M4*20 4
15 |Albero cilindro corda esagonale 2 59 |Spina del cavo 1
16 [limite di frame 1 60 |Cavo a tre conduttori 1
17 |Viti esagonali M8*45 1 61 __|Cerchio di protezione del cavo (piccolo) 3
18 [Tassello cilindrico ¢ 3 5 62 y‘it‘iﬁ testa cilindrica con intaglio a croce | 4
19 [Chiave piatta M5*14 2 63 |Guarnizione piatta 1
20 |Anelli elastici per albero @ 7 1 64  |Fetta di messa a terra 1
21 |Cuscinetto60202 4 65 |Cavo a quattro conduttori 1
22 |Limite s p ring 1 66 __|Cerchio di protezione del cavo (grande )| 1
23 |Perno filettato 1 67 _|di protezione del cavo ( piccolo ) 1
24 |Scatola del cambio 1 68 |Cavo a due conduttori 1
25 |cilindrica con intaglio a croce M5*14 2 69 _|Piccolo cerchio di protezione del cavo 1
26 |Guarnizione piatta 5 1 70 |Scatola di commutazione da viaggio 1
27 |Bulloni esagonaliM5*14 5 71__|Le aperture bloccano il cerchio 1
28 |Lavatrice per coltivatori 5 5 72 __|Albero di commutazione 1
29  |Albero intermedio 1 73 |Interruttore di viaggio 1
30 Ingranaggio secondario 1 74 |Viti autoperforanti a croce ST35*14 1
31 |super equipaggiamento 1 75 _|Copertura dell'interruttore di viaggio 1
32 ] Viti a testa cilindrica con intaglio a croce

Anello di tenuta 1 76 |M3*28 fornite 2
33 |Cuscinetto60200 2 77__|Assale scorrevole 1
34 |Ex copertina 1 78 _|Perno albero 1
35 |l rotore 1 79 |Coppiglia 1
36 |Lo statore 1 80 |puleggiay 1
37 [telaio 1 81 [Puleggia e stent 2
38 |primavera 1 g2 |Guarnizione piatta 1
39 |Componente freno 1 83 __|Interruttore di sollevamento 1
40 |copertina 1 84 |Copri maniglie 1
41 |Bulloni esagonaliM4* 175 4 85 |maniglie 1
42 |Guarnizione piatta @5 4 86 |Guaina del cavo 1
43 |Rondelle Grower @ 5 4 87__|Viti autoperforanti a croce st35*20 3
44 |Copertina posteriore 1 88 |capacita 1

-12-




VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia elettronica
www.vevor.com/support

-13 -


https://www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia electronica
www.vevor.com/support

POLIPASTO ELECTRICO DE CABLE
MANUAL DEL USUARIO

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are
actually saving half in comparison with the top major brands.

-14 -


https://www.vevor.com/support

‘ r L2
EVOR ELECTRIC WIRE ROPE HOIST

TOUGH TOOLS, HALF PRICE

MODELO: PA800 / PA1000

(La imagen es solo de referencia; consulte el objeto real)

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.

-1-



SAFETY INSTRUCTION AND PRECAUTIONS

Simbol
Descripcion del simbolo
o

@ Advertencia: Para reducir el riesgo de lesiones, el usuario debe leer

atentamente el manual de instrucciones.

Este simbolo, colocado antes de un comentario de seguridad,
indica un tipo de precaucion, advertencia o peligro. Ignorar esta
& advertencia puede provocar un accidente. Para reducir el riesgo
de lesiones, incendios o electrocucion, siga siempre las

recomendaciones que se muestran a continuacion.

£ ADVERTENCIA:

21.Lea atentamente y comprenda todas las INSTRUCCIONES DE
MONTAJE Y OPERACION antes de operar.

22.Este producto puede causar interferencias perjudiciales. El
incumplimiento de las normas de seguridad y otras precauciones
basicas de seguridad puede provocar lesiones personales graves.

23.Antes de utilizar la cortadora, asegurese de que el area de trabajo
esté limpia y ordenada y evite que haya residuos que obstruyan la
operacion.

24.Durante la operacion, mantenga los dedos alejados del area de
impacto de la pistola de clavos para evitar lesiones accidentales.

25.Al utilizar una cortadora de salchichas, mantenga una postura estable
y evite sacudir o deslizar la mano para garantizar que la ufa pueda
fijarse con precision en el objeto de destino.







INSTRUCTIONS

Gracias por adquirir el mini polipasto eléctrico en Nuestra empresa .
Esperamos que pueda brindarle la comodidad que necesita.
Lea y comprenda atentamente este manual antes de Realizar la instalacion y
operacion del mini polipasto eléctrico,

especialmente la

usuarios el mini polipasto eléctrico lea y comprenda esta parte.

“ OPERACION SEGURA ”

y garantizar que todos los

TECHNICAL PARAMETERS FORM

Levantamien

Aport

Capacida to Levantamien E:rbg'g e | Trabaj | Calificad
modelo uso : Velocidad Fuerz ar o)
(klloog)ram (metros por (ﬁ:telﬂg) (n:)e);tr a deber Voltio
minuto) (Mi)
Ganch
o 100 10 12 33
PA200 -3mPe 12 450 | 25%-10
Doble min
ganch 200 5 6
]
Ganch
o 125 10 12 s3
PA250 [-SmPle 12 500 | 20%-10
Doble min
ganch 250 5 6
]
Ganch
o 150 10 12 s3
simple o
PA300 Doble 12 550 20 @-1 0
ganch 300 5 6 mn Sgggro
o 240 V~
Ganch 50-
sir: o 200 10 12 s3 60 Hz
PA400 |3 t’)’l 12 750 | 25%-10
ovle min
ganch 400 5 6
0
Ganch
o 250 10 12 s3
simple o
PA500 Doble 12 900 20 A:_-1 0
ganch 500 5 6 min
]
Ganch
o 300 10 12 s3
PAGO0 [-SimPle 12 1050 | 20%-10
Doble min
ganch 600 5 6

[¢]




Ganch

o 400 10 12 53
PAgOQ [-SImele 12| 1450 | 20%-10

Doble min

ganch 800 5 6

o]

Ganch

o 500 10 12 3
PA1000 |-Simele 12 1800 | 20%-10

Doble min

ganch 1000 5 6

o]

Ganch

o 600 10 12 3
e 12| 2000 | 20%-10

Doble min

ganch 1200 5 6

[e]

Nota: Clase de aislamiento: B; Grados de proteccion: IP40; Sistema de
trabajo:
Trabajo de ciclo continuo.(por ejemplo: S3 25%-10min)




SAFE OPERATION PROCEDURES

Siga estos procedimientos y tenga en cuenta las normas de seguridad.
Cuando utilice el mini polipasto eléctrico:

1.Por favor Lea y comprenda este manual cuidadosamente antes El
funcionamiento. Debemos comprobar periédicamente la instalacién del polipasto
microeléctrico para satisfacer las necesidades y facilitar Se aplica el mini polipasto
eléctrico. La ubicacion de instalacion del Mini polipasto eléctrico y confirmar que
esté sdélido o no.

2. La capacidad del mini polipasto eléctrico es limitada, no lo use durante mucho
tiempo. Uso excesivo. Y no lo uses cuando no conozcas el peso. de los objetos
(incluidos los colgadores , los cables, los contenedores inclinados)! La sobrecarga
puede dafiar el mini coche eléctrico. polipasto o cuerda, y también aumentan los
factores inseguros de la operacién. proceso. Sugerimos utilizar la polea para
operar cuando se engancha obstruir, este método puede Hacer que la carga se
reduzca en un 50%.

3. El mini polipasto eléctrico esta disefiado de acuerdo con S 3-20% (25%) -10
min (es decir, funciona 2 min y necesita descansar 8 min). Por favor No utilice el
modo continuo durante mucho tiempo. El uso continuo puede aumentar Factores
inseguros durante el funcionamiento, que dafaran gravemente el motor.

4. Por favor, no "tire" suspendido objetos cuando el mini eléctrico El polipasto esta
funcionando, de lo contrario, aumentara la carga del mini. polipasto eléctrico, y
coloque un minipolipasto eléctrico y un cable de acero en condicién de
sobrecarga.

5. Mantenga limpia y ordenada el area de trabajo del mini polipasto eléctrico . No
permita que otras personas se acerquen y toquen el cable tenso. Prohibalo a
cualquier persona. de pie sobre el siguiente estado de funcionamiento del mini
polipasto eléctrico.

Como es necesario Para cambiar el cable de acero, su especificacion de tipo
debe ser consistente con el cable original. soga.

7. Por favor, péngase guantes de cuero gruesos y no permitir cable soga de su
mano a través cuando el cable de acero esta en funcionamiento, de lo contrario
Las lesiones causadas por el cable de acero pueden pincharte la mano.



8. Al finalizar la operacion , coloque el cable de acero en el recipiente. y no utilice
directamente la mano para guiar y colocar el cable de acero.

9. No utilice ganchos para enganchar la cuerda . No utilice microcuerdas polipasto
para enganchar el objeto suspendido, de lo contrario se dafiara el mismo. cuerda
en si. Por lo tanto, utilice otra cuerda adecuada para enganchar el objeto.

10. El dispositivo de limite es una configuracion de dispositivo de seguridad,
puede Asegurese de que cuando el gancho se eleve a la posicién limite se
apague cuando,

1 1. No utilice el mini polipasto eléctrico para enganchar a alguien ni lo utilice para
Ascensor tripulado, este mini polipasto eléctrico no debe utilizarse para elevacion.
12. Las posiciones de instalacion del minipolipasto eléctrico deben ser seguras.
Las senales de advertencia y las marcas indicadoras estan en un estado
sorprendente, porque las necesitamos.

13. Asegurese de que el polipasto microeléctrico funcione correctamente. Sin
ninguna barrera

14. Por favor, no opere el mini polipasto eléctrico en lugares donde se pueda
beber.

15. No coloque el mini polipasto eléctrico debajo cuando esté en movimiento.
obras.

16. Por favor, utilice el Fijacion fija del mini polipasto eléctrico siempre que no esté
seguro.

17. No reconstruya ni suelde opcionalmente el mini polipasto eléctrico.

18. Con el mini gancho de polipasto eléctrico, asegurese de que la cuerda cilindro
retenido por al menos 3 vueltas de cable de acero, con el fin de Evita que el cable
de acero sufra demasiada tension debido al cilindro del cable al desprenderse.

INSTALLATION

Advertencia: Abra la caja. Asegurese de abrirla y retirar la cinta de papel.
envuelto alrededor de la
tambor de cuerda, solo después de eso puedes probar la maquina, si Si te
apresuras a probar las maquinas, podrias provocar que la cuerda se enrolle y se
estrelle el avion.



La ubicacién de la instalacion del minipolipasto eléctrico es de acuerdo segun
las necesidades operativas. Se propone instalar en un soporte especial. para mini
polipastos eléctricos y debe ser solido y confiable.

Se debe evitar el contacto directo del cable de acero con la cremallera de
limite, de lo contrario, provocara una falla del interruptor de limite y provocara que
el polipasto microeléctrico no funcione correctamente.Se debe evitar el contacto
directo del cable de acero con la cremallera de limite, de lo contrario, provocara
una falla del interruptor de limite y provocara que el polipasto microeléctrico no
funcione correctamente.

No deje que el minipolipasto eléctrico quede expuesto a la lluvia o Sumergido
en agua, la clase de proteccion del mini - polipasto eléctrico es P40 .

El mini polipasto eléctrico necesita utilizar pernos hexagonales fijos, planos
Arandelas, arandelas elasticas, etc., garantizan la correcta instalacion de todos
componentes y apretar los pernos con la llave dinamométrica incluida Anexo
"mapa de instalacion". Asegurese de que el anillo fijo (u otro sustituto) presione
firmemente el poste de montaje (varilla redonda o cuadrada barra) para que el
cuerpo del polipasto microeléctrico no se mueva ni gire

POWER INSTALLATION

El estandar de trabajo del mini polipasto eléctrico es fuente de alimentacion
de CA monofasica 220 - 240 V / 50 - 60 Hz, y debe utilizarse conexion a tierra .

Advertencia: asegurese de que todo cables y mini polipastos eléctricos de
rotacion o Las partes de la fiebre mantienen la distancia adecuada.

OPERATION

cambiar

No opere el interruptor, " interruptor ascendente" , " interruptor descendente"
En el estado "desconectado”, "interruptor de parada urgente" (solo para PA1000)
en el estado "activado", se desconecta la alimentacién del motor del mini polipasto
eléctrico, el mini polipasto eléctrico esta en frenado. Presione el botén "subir"
interruptor”(cerca del cable lado), el "interruptor ascendente" en la condicion de
"compensacion”, mini eléctrico EI motor del polipasto eleva el bucle y se conecta

la alimentacién, mini polipasto eléctrico esta en estado de movimiento. Al mismo

-8-



tiempo, el gancho esta en estado ascendente. Haga clic "Interruptor que cae".
"Interruptor que cae" en el "maquillaje" condicion, mini motor de elevacion
eléctrica bucle de descenso de potencia El mini polipasto eléctrico esta conectado
y esta en estado de movimiento y el gancho cae. estado.

Para el tipo PA1000, si presiona el "interruptor de parada urgente" , entonces
Mini polipasto eléctrico motor eléctrico eleva circuito, bucle de caida es
Desconectado, presione "interruptor ascendente", "interruptor descendente" mini
eléctrico El polipasto no esta funcionando, se debe reiniciar el "interruptor de
parada urgente", capacidad hace que el mini polipasto eléctrico funcione
normalmente.

1. Advertencia: 1. Si el mini polipasto eléctrico no funciona Se debe cortar la
energia y tomar buenas medidas de aislamiento . Se prohibe colgar objetos
pesados en el aire . durante mucho tiempo, para evitar deformaciones
permanentes o cualquier accidente.

Inspeccione periddicamente los pernos y el polipasto eléctrico mini fijo. Cable
de alimentacién, acumulacién clara estacional en polipasto eléctrico en linea de
polvo y corrosivos liquido.

6. Si el polipasto eléctrico esta en estado de declive, el carrete del polipasto
eléctrico dura El cable de acero recubierto con pintura roja no puede soltar tres
vueltas. Si seguiria disminuyendo el interruptor, cable de acero de acuerdo a eso
Vierta alrededor del bote de cuerda , haciendo que el polipasto eléctrico suba y
baje. operacion conversada, dichos interruptores de limite perderan su accién.

MAINTENANCE

aceite

Comprar un nuevo polipasto eléctrico en miniatura en el interior tiene nota
Lubricante de mantenimiento de por vida. En el funcionamiento del mini polipasto
eléctrico, Puede haber un poco de secrecién, especialmente en la primera
operacion. Esto es Normal, no es necesario repostar el mini polipasto eléctrico.
Cable de acero

El mini polipasto eléctrico necesita inspeccién y reemplazo periddicos Con
frecuencia, la cuerda se desgasta. Si el cable de acero esta desgastado, debe
reemplazarse. inmediatamente.



FAULT AND EXCLUDING

El minipolipasto eléctrico a menudo se utiliza o se opera incorrectamente , lo
que puede Aparecen varios fallos . Fallos comunes, causas y eliminacion. Método
s ver tabla a continuacion:

Comun
fallas

razon

Método de eliminacion

Botoén de elevacion
manual para cambiar
EIl motor no gira

1. La fuente de alimentacion ha
pasado por

2. Cableado roto orlo

3. Cambiar

4 Dafios en el condensador

5. (falla del botén de subida. reinicio o
el stroker) inicio fallo limite fragmento
6. El interruptor de parada abrupta no

17. Poder de procesamiento

18. Comprobar cableado y reparar
19. Reparar o interruptor de
transferencia
20. 4 Condensadores de
intercambio

Verifique el marco de limite o
cambie el interruptor de recorrido

Botén de elevacion
manual para cambiar el
ruido del motor.

No puedo iniciar
narmalmente

1. El voltaje de la fuente de
alimentacion es demasiado bajo.
2. Dafios en el condensador

3. Contacto de conmutacion no
d do

13. Ajustar el voltaje
14. Intercambio de condensadores

Reparacién o cambio de marchas.
Pdéngase en contacto con nosotros o

Fallo de frenos o
deslizamiento por una
gran pendiente

Por favor contacto nosotros o Las
unidades de venta

Excesivo ruido

9. Mala lubricacion

10. O dafio en el cojinete del
engranaje

3. Abrir después del montaje. Malo o

1 4+

13. Anade la grasa

Comprobar cambio o cojinetes de
engranaje

Comprobar el conjunto de todas las

Chasis cargado

1. Fallo de conexion a tierra o falta de
conexion a tierra

2. Conductores internos y chasis

1. comprobar y reparar el suelo

2. Verifique y repare los cables
internos

Mecanismo de limite
fracaso y instrucciones
y ejecucion de
levantamiento
Contrario _resultado

toma de tierra

El funcionamiento incorrecto del cable
de acero en reversa provoco que el
cilindro se averie.

El caso se eleva, haga que el
gancho declina el interruptor de
cable Extremo de la cuerda y
completamente fuera del tubo, y
luego comience a funcionar

-10 -



DIBUJO PARA FIJACION

MANERA DE CUERDA CON ALA

NO NO OK
DIAGRAMA DE CABLEADO ELECTRICO DEL POLIPASTO ELECTRICO

o |

T f
Tl aizh llpltll-l'll!l' unqp-.-.-mt;pn;.r. mialar




-12-



PA SERIES ELECTRIC HOIST OTHER PARTS LIST

De . N De serie .
seie (Otra pieza con nombre 7" limero (Otro nombre de pieza  [cantidad
numero
1 |Marco fijo 1 45  |Junta plana ¢ 3 2
, |Tornillos avellanados con ranuras en Tornillos de cabeza avellanada con
cruz M8*22 4 46 _|ranuras en cruz M3*6 1
3 |Anillo de fijacién 2 47 |Hoja de viento 4
4 |Pernos hexagonales M8*25 4 48 |Revestimiento del motor 1
5 (Arandela de seguridad del perfil 4 49 |Tornillo de fijacion del extremo conico 1
6 [Tuerca de marco fijo 4 50 [terminales 1
Ranuras cruzadas Tornillos
7 autoperforantes de fijacion vertical
Conjunto de apoyo 1 51 |ST24*14 1
8 |Junta de cilindro resistente 1 52 |Insertar hoja (céncava) 6
9 [Cilindro de cuerda 1 53 [Insertar tiendas de suministros de 6
10 |Cable de acero r1n2_"n 54 Tornillos autoperforantes con ranuras en 6
11 |pesos 1 55 _|Clips para cables 4
12 |Sobrinas fascinantes 1 56 |Cubierta de cableado 1
13 |Anillo de revestimiento de cuerda 1 57 _|Junta plana 4
14 Ranuras cruzadas suministradas para
Gancho 2 58 _|[tornillos sin cabeza M4*20 4
15 |Eje de cilindro de cuerda hexagonal 2 59 |Enchufe del cable 1
16 |marco limite 1 60 |Cable de tres nucleos 1
17 [Tomnillos hexagonales M8*45 1 61 |Circulo protector de cable (pequefo) 3
18 |Pasador cilindrico ¢ 3 5 g2 |Tornillos de cabeza plana con ranuras enf
19 |Llave plana M5*14 2 63 |Junta plana 1
20 |Anillos de retencién para eje ¢7 1 64 |Rebanada de conexién a tierra 1
21 |Cojinete 60202 4 65 |Cable de cuatro nicleos 1
22 |Anillo de limite de resorte 1 66 __|Circulo protector de cable ( grande ) 1
23 |Perno roscado 1 67 __|Circulo protector de cable ( pequefio ) 1
24 |Caja de cambios 1 68 |Cable de dos nucleos 1
25  |hueca con ranuras en cruz M5*14 2 69 |Pequefio circulo protector de cable 1
26 |Junta plana 5 1 70 |Caja de interruptores de viaje 1
27 |Pernos hexagonales M5*14 5 71 |Bloque de aperturas circular 1
28 |Lavadora de cultivo 5 5 72 _|Eje del interruptor 1
29  |Eje intermedio 1 73 |Interruptor de viaje 1
30 . . Tornillos autoperforantes con ranuras en
Engranaje secundario 1 74 _|cruz v rosca ascendente ST35%14 1
31 |super equipo 1 75 __|Cubierta del interruptor de viaje 1
32 . Tornillos de cabeza plana con ranuras en
Anillo de sellado 1 76 _|cruz suministrados M3*28 2
33 |Cojinete 60200 2 77__|Eje deslizante 1
34 |Antigua portada 1 78 _|Eje del pasador 1
35 |El rotor 1 79 |Pasador de chaveta 1
36 |El estator 1 80 |poleay 1
37 |chasis 1 81 [Poleas y stents 2
38 |primavera 1 g2 [|Junta plana 1
39 |Componente de freno 1 83 _|Interruptor de elevacion 1
40 |cubrir 1 84 [Maneja la cubierta 1
41 |Pernos hexagonales M4* 175 4 85 |manijas 1
42 |Junta plana @ 5 4 86 [Vaina del cable 1
43 |Lavadoras de cultivo ¢ 5 4 g7 |Tornillos autoperforantes con ranuras 3
44 |Contraportada 1 88 |capacidad 1

-13-




VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia electrénica
www.vevor.com/support

-14 -


https://www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat e-gwaranc;ji
www.vevor.com/support

WCIAGNIK LINOWY ELEKTRYCZNY
INSTRUKCJA OBSLUGI

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are
actually saving half in comparison with the top major brands.

-15-


https://www.vevor.com/support

‘ r L2
EVOR ELECTRIC WIRE ROPE HOIST

TOUGH TOOLS, HALF PRICE

MODEL:PA800 /PA1000

(Zdjecie ma charakter pogladowy, prosze odnies¢ sie do rzeczywistego obiektu)

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.

-1-



SAFETY INSTRUCTION AND PRECAUTIONS

Symbol | Opis symbolu

@ Ostrzezenie: Aby zminimalizowa¢ ryzyko obrazen, uzytkownik

powinien uwaznie przeczyta¢ instrukcje obstugi.

Ten symbol, umieszczony przed komentarzem dotyczgcym
bezpieczenstwa, wskazuje na rodzaj ostroznosci, ostrzezenia lub
niebezpieczehstwa. Zignorowanie tego ostrzezenia moze
& doprowadzi¢ do wypadku. Aby zmniejszy¢ ryzyko obrazen,
pozaru lub porazenia prgdem, zawsze postepuj zgodnie z

zaleceniami podanymi ponize;.

£l OSTRZEZENIE:

26.nalezy uwaznie przeczytaé i zrozumie¢ catg INSTRUKCJE MONTAZU
| OBSLUGI .

27.Ten produkt moze powodowac szkodliwe zakidcenia.
Nieprzestrzeganie zasad bezpieczenstwa i innych podstawowych
Srodkow ostroznosci moze skutkowaé powaznymi obrazeniami ciata.

28.Przed uzyciem maszynki upewnij sie, ze miejsce pracy jest czyste i
uporzadkowane oraz ze zadne zanieczyszczenia nie mogg utrudniac

pracy.
29.Podczas pracy trzymaj palce z dala od obszaru uderzenia gwozdziarki,

aby unikng¢ przypadkowego zranienia.

30.Podczas uzywania obcinaczki do kietbas nalezy zachowac stabilng
postawe i unika¢ drzenia lub przesuwania rgk, aby mie¢ pewnosg¢, ze
gwozdz zostanie doktadnie zamocowany w docelowym obiekcie.






Dziekujemy za zakup mini wciggarki elektrycznej. nasza firma . Mamy

INSTRUCTIONS

nadzieje, ze przyniesie Ci wygode, ktérej potrzebujesz.
Przed przystgpieniem do uzytkowania prosimy o doktadne zapoznanie sie z

trescig niniejszej instrukcji. dokona¢ montazu i obstugi miniwciggnika

elektrycznego,

szczegolnie ,, BEZPIECZNA OBSLUGA ”

i zapewni¢ kazdemu, kto

korzysta z s miniaturowy podnosnik elektryczny przeczytaj i zrozum te czesc.

TECHNICAL PARAMETERS FORM

Kab o
stosowan Poje;mno Pod'?igsze Pod'?igsze el Weejsc' Praca Ocenion
model ie ) Predkos¢ | Wysokos¢ | PO | mMoc | obowiaz | W
(m/min) (M) (M) (W)
Pojedynczy 100 10 12 s3
PA200 [—hak 12 | 450 | 25%-10
oawojny 200 5 6 minut
hak
Pojedynczy 125 10 12 s3
PA250 ek 12 | 500 | 20%-10
oawojny 250 5 6 minut
hak
Pojedynczy 150 10 12 s3
PA300 — :a'f. 12 550 | 20%-10
oawojny 300 5 6 minut
hak
Pojedynczy 200 10 12 s3
PA400 — ;‘a'f. 12 750 | 25%-10 | o .
oawojny 400 5 6 minut ojedync
hak zy
Pojedynczy 220-
o 250 10 12 s3 o Vm
PAS00 [ —5oiet 12 900 | 20%-10 0.
hak 500 5 6 minut 60Hz
Pojedynczy 300 10 12 s3
PAB00 [— ;‘a'f. 12 | 1050 | 20%-10
oawojny 600 5 6 minut
hak
Pojedynczy 400 10 12 s3
PABOO [—phak 12 | 1450 | 20%-10
oawojny 800 5 6 minut
hak
Pojedynczy 500 10 12 s3
PAYOD L hak 12 | 1800 | 20%-10
oawojny 1000 5 6 minut
hak
PA120 Pojedynczy S3
o0 o 600 10 12 12| 2000 | ,00%0




|Podwéjny| 1200 | 5 | 6 | | | minut |
hak

Uwaga: Klasa izolacji: B; Stopien ochrony: IP40; System pracy:

Kontynuacja pracy cyklicznej. (na przykfad: S3 25%-10min)



SAFE OPERATION PROCEDURES

Prosze postepowac zgodnie z ta procedura i zwréci¢ uwage na zasady

bezpieczenstwa.

podczas korzystania z miniaturowego podnosnika elektrycznego:

1. Prosze przed przystgpieniem do pracy nalezy uwaznie przeczytaé i zrozumieé
te instrukcje operacja. Musimy regularnie sprawdzac¢ instalacje mikrowciggnika
elektrycznego, aby sprosta¢ potrzebom i utatwi¢ zastosuj mini podnosnik
elektryczny. Miejsce instalacji Mini podnosnik elektryczny i sprawdz, czy jest
stabilny, czy nie.

2. Nosnos¢ miniwciggnika elektrycznego jest ograniczona, nie nalezy przecigzenie
uzytkowania. | nie uzywaj go, gdy nie znasz ciezaru przedmiotéw (w tym
wiszgcego, zakopanego tadunku, kabli, pochylonych pojemnikéw)! Przecigzenie
moze uszkodzi¢ miniaturowy wozek elektryczny wciggnika lub liny, a takze
zwiekszaé czynniki niebezpieczne podczas pracy procesu. Sugerujemy uzycie
kota pasowego do obstugi podczas zaczepiania zatkac, ta metoda moze zmniejsz
obcigzenie o0 50%.

3. Miniaturowy podnosnik elektryczny jest zaprojektowany zgodnie z normg S
3-20% (25%)-10 min (czyli pracuje 2 min i musi odpoczywac¢ 8 min) . Prosze nie
uzywaj ciggtego przez dtugi czas. Uzywanie ciggtego moze zwiekszy¢
niebezpiecznych czynnikdéw podczas eksploatacji, ktére mogg spowodowaé
powazne uszkodzenie silnika.

4. Prosze nie ,.ciggna¢” zawieszony obiekty, gdy mini elektryczny wciggarka

pracuje , w przeciwnym razie zwiekszy sie obcigzenie mini wciggnik elektryczny i
umiesci¢ w nim miniaturowy wciggnik elektryczny i line stalowg stan przecigzenia.
czysto$¢ i porzgdek w miejscu pracy mini podnosnika elektrycznego . Nie pozwdl
innym osobom zbliza¢ sie do napietej liny i dotykac jej, zabraniaj kazdemu stojgc
ponizej w stanie roboczym miniaturowego podnosnika elektrycznego.

Poniewaz istnieje potrzeba wymien line stalowa, jej specyfikacja typu musi by¢

zgodna z oryginalng ling lina.



7. Prosze zatozy¢ grube skorzane rekawice i nie pozwalac na drut lina z reki w
poprzek podczas pracy z ling stalowa, w przeciwnym razie uszkodzenia liny
stalowej mogg spowodowac uktucie dtoni.

koniec operacji wtéz line stalowag do pojemnika i nie uzywaj rgk bezposrednio do
prowadzenia i uktadania liny stalowe;j.

9. Nie uzywaj hakéw do zaczepiania samej liny . Nie uzywaj mikrolin dzwig, aby
przymocowac zawieszony przedmiot, w przeciwnym razie zostanie on uszkodzony
sama line . Dlatego prosze uzy¢ innej odpowiedniej liny do przymocowania
przedmiotu.

10. Urzadzenie ograniczajgce jest konfiguracjg urzgdzenia zabezpieczajgcego,

moze upewnij sie, ze gdy hak podniesiony do pozycji krancowej jest wytgczony,

1 1. Nie uzywaj matego podnosnika elektrycznego do zaczepiania kogo$ lub do
winda obstugiwana przez operatora, ta mata elektryczna winda nie jest
przeznaczona do podnoszenia.

12. Pozycje montazowe miniwciggnika elektrycznego muszg by¢ takie, aby: znaki
ostrzegawcze i znaki ostrzegawcze sg w stanie widocznym, poniewaz ich
potrzebujemy.

13. Zapewnij dziatanie mikrowciggnika elektrycznego bez zadnych barier

14. P rosze nie uzywac¢ podnosnika elektrycznego w miejscach, gdzie jest duzo
wody.

15. Nie umieszczaj matego podnosnika elektrycznego w poblizu, gdy jest on
fabryka.

16. Prosze uzy¢ state mocowanie miniwciagnika elektrycznego dostarczone lub
nie jestes pewien.

17. Nie nalezy opcjonalnie przebudowywac ani spawa¢ miniaturowego
podnosnika elektrycznego

18. Za pomocag miniaturowego haka wciggarki elektrycznej upewnij sie, ze lina
cylinder na przytrzymywany przez co najmniej 3 owiniecia liny stalowej, w celu
zapobiega zbytniemu naprezeniu liny stalowej przez cylinder podczas zsuwania

sie.
INSTALLATION



Ostrzezenie: Otworz pudetko. Upewnij sie, ze je otworzysz i wezmiesz tasme
papierowg owiniety wokot
beben linowy, dopiero po tym mozna przetestowa¢ maszyne, jesli jesli spieszysz
sig, aby testowaé maszyny, moze to spowodowac cofniecie sie liny i rozbicie
samolotu.

Lokalizacja instalacji mini-wciggnika elektrycznego jest zgodna z do potrzeb
eksploatacyjnych. Nalezy zaproponowa¢ montaz w specjalnym uchwycie do
miniaturowych wciggnikoéw elektrycznych, powinny by¢ solidne i niezawodne.

Nalezy unika¢ bezposredniego kontaktu liny stalowej z listwg zebatg. W

przeciwnym razie moze to spowodowac awarie wytgcznika krancowego i

nieprawidtowe dziatanie wciggnika mikroelektrycznego. Nalezy unika¢
bezposredniego kontaktu liny stalowej z listwg zebatg. W przeciwnym razie moze

to spowodowacé awarie wytgcznika kranicowego i nieprawidiowe dziatanie

wciggnika mikroelektrycznego.
Nie wystawia¢ miniwciggarki elektrycznej na dziatanie deszczu lub zanurzony

w wodzie, stopienn ochrony mini - wciggnika elektrycznego wynosi IP40 .

Miniaturowy podnos$nik elektryczny wymaga uzycia $rub szesciokatnych,
ptaskich podktadki, podktadki sprezyste itp. zapewniajg prawidtowy montaz
wszystkich elementy i dokre¢ $ruby za pomocg dotgczonego klucza

dynamometrycznego zatgcznik ,,mapa instalacji” . Upewnij sie, ze pierscien staty

(lub inny (zamiennik) mocno doci$nij drgzek montazowy (pret okragty lub
kwadratowy) preta), dzieki czemu korpus mikrowciggnika elektrycznego nie
bedzie sie poruszat ani obracat

POWER INSTALLATION

Standardowa pracg matego wciggnika elektrycznego jest zasilanie
jednofazowym zrédtem prgdu przemiennego 220-240 V / 50-60 Hz , ktére nalezy
podigczy¢ do uziemienia .

Ostrzezenie: upewnij sie, ze wszystkie kable i mini wciagnik elektryczny na
obrotowo lub gorgczkowe czesci ciata zachowujg odpowiednig odlegtosé.

-8-



OPERATION
przetacznik

Nie nalezy uzywa¢ przetgcznikéw ,, przetgcznik wznoszacy” , ..przefacznik

opadajgcy” w formie ,,odigcz”, ,.pilny wytacznik” (tylko dla PA1000) w stanie ,,

uzupetniania” , odtgczony silnik mini wciggnika elektrycznego, mini wciggnik

elektryczny w trakcie hamowania. Nacisnij ,,wznoszenie” przetgcznik"(w poblizu

kabla boczny), ,.przetgcznik podnoszacy” w stanie ,,makijazu” , mini elektryczny

silnik wciggarki podnosi sie petla zasilanie jest podigczone, miniaturowa
wciggarka elektryczna jest w stanie ruchu. W tym samym czasie hak jest w stanie

&

wzrostu.Kliknij ,,spadajacy przetacznik” . ,,spadajgcy przetgcznik” w ,,makijazu’
stan, mini elektryczny silnik wciggarki spadek petli mocy podtgczona mini

wciggarka elektryczna jest w ruchu, a hak spada parstwo.

W przypadku typu PA1000, jesli nacisniesz ,,wytgcznik pilnego

»

zatrzymania , miniaturowy elektryczny podnosnik silnik elektryczny podnosi

obwdd, petla opadania jest odtgczony, nacisnij "przetgcznik wznoszacy",
"przetgcznik opadajgcy" mini elektryczny wciggarka nie dziata, nalezy zresetowac

»Wylacznik pilnego zatrzymania” , mozliwo$¢ powoduje, ze miniaturowy podnosnik

elektryczny dziata normalnie.

1. Ostrzezenie: 1. Jesli mini wciggnik elektryczny nie dziata nalezy odcigé
zasilanie i zastosowa¢ dobre srodki izolacyjne wziete. Zabrania sie wieszania
ciezkich przedmiotéw w powietrzu przez dtugi czas, aby zapobiec trwatemu
odksztatceniu lub jakiemukolwiek wypadek.

-9-



Regularnie sprawdzaj state mini podnosniki elektryczne, sruby i przewod
zasilajgcy, sezonowy, czysty, gromadzgcy sie w podnosniku elektrycznym w sieci
pytu i substancji zracych ptyn.

7. Jezeli wciggnik elektryczny znajduje sie w stanie spadku, beben wciggnika
elektrycznego jest ostatni pokryta czerwong farbg lina stalowa nie moze uwolnic

trzech okrgzen. Jesli nadal odmawiaj przetgcznika, liny stalowej zgodnie z tym, co
by wlej wokét pojemnika z ling , poruszajgc wciggnikiem elektrycznym w gore i w
doét W przypadku odwrécenia operacii takie wytgczniki krancowe przestang

dziatac.

MAINTENANCE

olej

Kupujac nowy miniaturowy podnosnik elektryczny wewnatrz notatki smar do
konserwacji na cate zycie. Podczas obstugi miniwciggnika elektrycznego, moze
by¢ mato Sluzu, zwtaszcza w pierwszej operacji. To jest normalne, nie ma potrzeby
tankowania matego podnosnika elektrycznego.

Lina stalowa

Miniaturowy podnosnik elektryczny wymaga okresowej kontroli i wymiany czesto
lina. Jesli lina stalowa sie przetarta, nalezy jg wymieni¢ natychmiast.

FAULT AND EXCLUDING

Miniaturowy podnos$nik elektryczny czesto jest uzywany lub nieprawidtowo
obstugiwany , moze pojawiajg sie rozne usterki . Typowe usterki, przyczyny i
sposoby ich usuwania metody patrz tabela ponizej:

‘ Wspélny ‘
usterki

powédd Metoda eliminacji

-10 -



Przycisk podnoszenia
recznego do
przetaczania

Silnik sie nie obraca

1. Zasilanie zostato przepuszczone

2. Uszkodzone okablowanie orlo

3. Przetacznik

4 Uszkodzenie kondensatora

5. (awaria przycisku wspinaczki, reset
lub stroker) poczatek awarii fragmentu
granicznego

6. Nagty wytacznik nie jest resetowany

21. Moc przetwarzania

22. Sprawdz okablowanie i napraw

23. Naprawa lub przetgcznik

tranzytowy

24. 4 Wymien kondensatory
Sprawdz rame ograniczajacg lub

wymien wytgcznik jazdy

14 Zrocatiii ). il L,

Przycisk podnoszenia
recznego do
przetgczania. Hatas
silnika jest duzy.

Nie moae normalnie

1. Napigcie zasilania jest zbyt niskie
2. Uszkodzenie kondensatora
3. Niepozadany kontakt przetgczajacy

16. Dostosuj napiecie
17. Wymien kondensatory

Naprawa lub przetgcznik transferowy.
Prosze skontaktowa¢ sie z nami lub

Awaria hamulca lub
duzy poslizg

Prosze kontakt nas lub jednostki
sprzedazy

Nadmierny hatas

11. Zte smarowanie
12. Lub uszkodzenie fozyska
przekfadni

3. Rozerwij po ztozeniu zty lub puka¢
HYY!)

16. Dodaj smar

Sprawdz wymiane lub fozyska
przektadni
Sprawdz montaz wszystkich czesci i

Podwozie oskarzony

1. Brak uziemienia lub jego brak

2. Przewody wewnetrzne i podwozie

1. sprawdz i napraw podtoze

2. Sprawdz i napraw przewody
wewnetrzne

Mechanizm graniczny
porazka i instrukcje i
wykonanie
podnoszenia

Przeciwnie  wynik

grunt

Nieprawidtowe dziatanie liny stalowej
wokot cylindra w odwrotnym kierunku
spowodowato

Obudowa sie podnosi, przetgcznik
przewodu haka opada koniec liny i
catkowicie odtacz od rurki, a
nastepnie zacznij dziata¢
prawidtowo

-1 -




RYSUNEK DO UTRWALENIA

SPOSOB SKRECANIA LINY

NO NO OK
SCHEMAT INSTALACJI ELEKTRYCZNEJ WCIAGARKI ELEKTRYCZNE)

o |

T f
Tl aizh llpltll-l'll!l' unqp-.-.-mt;pn;.r. mialar




-13-



PA SERIES ELECTRIC HOIST OTHER PARTS LIST

sevivvlnna nazwa kawatka ios¢ (5 (lnna nazwa utworu ilos¢

1 |Rama stata 1 45 |Uszczelka ptaska ¢ 3 2
5  |[Wkrety z tbem stozkowym i rowkiem Sruby z tbem stozkowym i rowkiem

krzyzowym M8*22 4 46 |krzyzowym M3*6 1
3 |Pierscien mocujacy 2 47 |Li$¢ wiatru 4
4 |Sruby szesciokatne M8*25 4 48 [Wkiadka silnika 1
5 |Podktadka zabezpieczajaca profil 4 49 :S_ru*ba ustalajgca z koncowka stozkowg 1
6 |Nakretka ramy statej 4 50 _[terminale 1
7 o Szczeliny poprzeczne wkrety

Zestaw wspierajgcy 1 51 |samowiercace ST24*14 1
8 |Mocna uszczelka cylindra 1 52 |WiozZ arkusz (wklesty) 6
9 |cylinder linowy 1 53 |Wstaw sklepy z artykutami do pobrania | ¢
10 |Lina stalowa LZM 54 }Nkr(?ty samg\_l'_viherrf:‘ace z rowkiem 6
11 |ciezary 1 55 |Zaciski kablowe 4
12 [Fascynujgce siostrzenice 1 56 |Ostona okablowania 1
13 |Pierscien ostony liny 1 57 |Uszczelka ptaska 4
14 Do otwordw krzyzowych dotgczono

Hak 2 58 |Sruby bez tba M4* 20 4
15 |Wat cylindra linowego szesciokatnego| 2 59 |Wtyczka kablowa 1
16 [rama graniczna 1 60 |Kabel trzyzytowy 1
17 |Sruby szesciokatne M8*45 1 61 |Ostona kabla okragta (mata) 3
18 |Kotek cylindryczny ¢ 3 5 62 ISrub.y z Iberpﬁtgzkowym z rowkiem 1
19 [Klucz ptaski M5*14 2 63 |Uszczelka ptaska 1
20 |Pierscienie osadcze watu @7 1 64 |Plaster uziemiajgcy 1
21 |k ozysko60202 4 65 |Kabel czterozytowy 1
22 |Sprezyna ograniczajgca 1 66 __|Ostona kabla okragta ( duza ) 1
23 [Szpilka gwintowana 1 67 __|Ostona kabla okragta ( mata ) 1
24 |Skrzynia biegow 1 68 |Kabel dwuzylowy 1
25 _[Sruby krzyzowe z bem szesciokatnym| 69 |Maty okrag zabezpieczajacy kabel 1
26 |Uszczelka ptaska 5 1 70  |Skrzynka przetgcznikdéw podréznych 1
27 |Sruby szesciokgtneM5*14 5 71__|Otwory blokujg okrag 1
28  |Podktadka Grower 5 5 72 |Wat przetgcznika 1
29 |Wat posredni 1 73 |Przetgcznik podrozy 1
30 . i \Wkrety samowiercgce z rowkiem

Przektadnia wtérna 1 74 |krzyzowym ST35*14 1
31 |super sprzet 1 75 |Ostona przefacznika jazdy 1
32 o . . Sruby z tbem stozkowym M3*28

Pierscien uszczelniajgcy 1 76 |dostarczane z rowkami krzyzowymi 2
33 Kk ozysko60200 2 77__|O$ przesuwna 1
34 |Poprzednia oktadka 1 78 |[Wat sworznia 1
35 |Wirnik 1 79 |Kotek rozporowy 1
36 |Stojan 1 80 |bloczek y 1
37 |podwozie 1 81 [Stenty typu pulley 2
38 |wiosha 1 g2 |Uszczelka ptaska 1
39 |Komponent hamulca 1 83 |Przetgcznik podnoszenia 1
40 |oktadka 1 84 |Ostona uchwytéw 1
41 |Sruby szeséciokatneM4* 175 4 85 |uchwyty 1
42 |Uszczelka ptaska 5 4 86 |Ostona kabla 1
43_|Podktadki Grower @ 5 4 | g7 [Wkrety samowiercace z rowkiem 3
44 [Tylna oktadka 1 88 [pojemnosé 1

-14 -




VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat e-gwarancji
www.vevor.com/support

-15-


https://www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat
www.vevor.com/support

ELEKTRISCHE STAALDRAADTAKEL
GEBRUIKERSHANDLEIDING

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are
actually saving half in comparison with the top major brands.

-16 -


https://www.vevor.com/support

‘ r L2
EVOR ELECTRIC WIRE ROPE HOIST

TOUGH TOOLS, HALF PRICE

MODEL:PA800 /PA1000

(De afbeelding is alleen ter referentie; raadpleeg het daadwerkelijke object)

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.

-1-



SAFETY INSTRUCTION AND PRECAUTIONS

Symbo
Symbool Beschrijving
ol

@ Waarschuwing: Om het risico op letsel te beperken, moet de
gebruiker de gebruiksaanwijzing zorgvuldig lezen.

Dit symbool, geplaatst voor een veiligheidsopmerking, geeft een
soort voorzorgsmaatregel, waarschuwing of gevaar aan. Het
& negeren van deze waarschuwing kan leiden tot een ongeluk. Om
het risico op letsel, brand of elektrocutie te verminderen, dient u

altijd de onderstaande aanbevelingen op te volgen.

£ WAARSCHUWING:

31.MONTAGE- EN GEBRUIKSAANWIJZINGEN zorgvuldig door en zorg
dat u ze begrijpt voordat u het apparaat gaat gebruiken.

32.Dit product kan schadelijke interferentie veroorzaken. Het niet
naleven van de veiligheidsregels en andere
basisveiligheidsmaatregelen kan leiden tot ernstig persoonlijk letsel.

33.Zorg ervoor dat de werkplek schoon en opgeruimd is voordat u de
tondeuse gebruikt. Zorg ervoor dat er geen vuil in de weg zit.

34.Houd tijdens het gebruik uw vingers uit de buurt van het impactgebied
van het spijkerpistool om onbedoeld letsel te voorkomen.

35.Zorg bij het gebruik van een worstenknipper voor een stabiele houding
en vermijd trillende of glijdende handen, zodat de nagel nauwkeurig
op het doelobject kan worden vastgezet.







INSTRUCTIONS

Bedankt voor de aankoop van de mini elektrische takel in ons bedrijf . Wij
hopen dat het u het gemak kan bieden dat u nodig hebt.
Lees en begrijp deze handleiding zorgvuldig voordat u de installatie en

bediening van de mini-elektrische takel uitvoeren,

met name de " VEILIGE BEDIENING " en om ervoor te zorgen dat iedereen

die s gebruikt de mini elektrische takel lees en begrijp dit onderdeel.

TECHNICAL PARAMETERS FORM

Tillen

Tillen

Kabe

Invoer

model | gebrui Cap?citei Snelheid | Hoogt I Stroo Werk Beo%rdeel
k (kg) (m/minuut e Lang m plicht Volt
9 V) N ) A%}
Er:‘::l'f 100 10 12 s3
PA200 f—5iE% 12 450 25%-10mi
ubbele 200 5 6 n
haak
Er:‘ak:l'f 125 10 12 s3
PA250 |—20 12 500 20%-10mi
‘r‘] cle 250 5 6 n
aak
Er:‘::l'f 150 10 12 s3
PA300  f—5ooo 12 550 20%-10mi
ubbele 300 5 6 n
haak
Erkel 200 10 12 s3
PA400 =5 12 750 | 25%-10mi
‘r‘] cle 400 5 6 n
aak Enkel
Enkele 250 10 12 20,
ok S3 220-
PAS00  f—5nao 12 900 20%-10mi 240V~
HobeIe 500 5 6 n 50-
haak 60Hz
Er:‘a":l'f 300 10 12 s3
PA600  — 22 12 1050 | 20%-10mi
‘r‘] cle 600 5 6 n
aak
Er:‘::l'f 400 10 12 s3
PAB00 (oo 12 1450 | 20%-10mi
ubbele 800 5 6 n
haak
Er:‘a":l'f 500 10 12 s3
PA1000 2= 12 1800 | 20%-10mi
‘r‘] cle 1000 5 6 n
aak
PA1200 | paak 600 10 12 S3
0 Suibel 12 2000 | 20%-10mi
;‘] cle 1200 5 6 n
aak

Let op: isolatieklasse: B; beschermingsklasse: IP40; werksysteem:
Doorgaan met cycluswerk. (Bijvoorbeeld: S3 25%-10min)

-4-




SAFE OPERATION PROCEDURES

Volg deze procedures en let op de veiligheidsmaatregelen

wanneer u de mini elektrische takel gebruikt:

1. Alstublieft Lees en begrijp deze handleiding zorgvuldig voordat u de werking.
We moeten de installatie van de micro-elektrische takel regelmatig controleren om
aan de behoeften te voldoen en om te vergemakkelijken je past de mini elektrische
takel toe. De installatielocatie Mini elektrische takel en controleer of deze stevig is
of niet.

2. De capaciteit van de mini-elektrische takel is beperkt, dus wees voorzichtig.
overbelasting gebruik. En gebruik het niet als je het gewicht niet weet van de
objecten (inclusief hangende , begraven opbergruimte, kabels, hellende
condooms)! Overbelasting kan de mini-elektrische hijsen of het touw, en ook de
onveilige factoren van de operatie vergroten proces. Wij raden aan om de katrol te
gebruiken om te werken wanneer u haakt verstopping, deze methode kan de
belasting met 50% verminderen.

3. Mini elektrische takel is ontworpen volgens S 3-20% (25% ) -10min (dat wil
zeggen dat hij 2min werkt en 8min moet rusten ) gebruik niet langdurig continu.
Het gebruik van continu kan toenemen onveilige factoren tijdens het gebruik, die
de motor ernstig kunnen beschadigen.

4. Trek alsjeblieft niet opgeschort objecten wanneer de mini elektrische hijsen
werkt , anders zal het de belasting van de mini verhogen elektrische takel, en
plaats een mini-elektrische takel en staalkabel in overbelastingstoestand.

5. Houd het werkgebied van de mini-elektrische takel schoon en opgeruimd. laat
ander personeel in de buurt komen en gespannen staalkabel aanraken, verbied
iedereen staand op de onderstaande in werking zijnde staat van mini elektrische
takel.

6. Omdat er behoefte is aan Bij het vervangen van de staaldraad moet de
typeaanduiding overeenkomen met de originele draad touw.

7. Trek dikke leren handschoenen aan en vermijd draad toestaan touw van uw
hand over wanneer Staaldraad in werking is, anders de verwondingen door het
staaldraad kunnen uw hand verwonden.

8. Doe aan het einde van de operatie de staalkabel in de bus en gebruik de hand
niet rechtstreeks om de staalkabel te leiden en te monteren.

-5-



9. Gebruik geen haken om het touw zelf aan vast te haken . Gebruik geen
micro-touw hijsen om het hangende object op te hangen, anders beschadigt het
de touw zelf . Gebruik dus een ander geschikt touw om het object aan vast te
maken.

10. Het grensapparaat is als een veiligheidsapparaatconfiguratie, het kan Zorg
ervoor dat de haakroos naar de eindpositie is uitgeschakeld wanneer,

1 1. Gebruik de mini-elektrische takel niet om iemand op te hangen of om
bemande lift, deze mini-elektrische takel mag niet worden gebruikt om te tillen.
12. De installatieposities van de mini-elektrische takel moeten zeker zijn
waarschuwingsborden en verklikkerlichten zijn in opvallende staat, omdat we ze
nodig hebben.

13. Zorg ervoor dat de micro-elektrische takel werkt zonder enige barriére

14. Gebruik de mini-elektrische takel niet tijdens het drinken.

15. Plaats de mini-elektrische takel niet onder de grond als deze in gebruik is.
werken.

16. Gebruik de vaste bevestiging van de mini elektrische takel verstrekt, of je bent
onzeker.

17. Mini-elektrische takel niet optioneel reconstrueren of lassen

18. Zorg ervoor dat het touw vastzit aan het mini-elektrische hijshaakobject cilinder
op vastgehouden voor ten minste 3 ronden staaldraad, om Voorkom dat de
staalkabel te veel spanning krijgt van de kabelcilinder bij het afstoten.

INSTALLATION

Waarschuwing: Open de doos. Zorg ervoor dat u de papieren tape opent en
meeneemt gewikkeld rond de
touwtrommel, pas daarna kun je de machine testen, als Als je haast hebt om
machines te testen, kan het touw terugdraaien en kunnen vliegtuigen neerstorten.

De locatie van de mini-elektrische hijsinstallatie is volgens voor operationele
behoeften. Voorgesteld wordt om in een speciale beugel te installeren voor
mini-elektrische takels, en moet solide en betrouwbaar zijn.

Vermijd het contact van staalkabels met de tandheugel en beperk direct
contact, anders zal de eindschakelaar defect raken, waardoor de micro-elektrische
takel niet goed werkt. Vermijd het contact van staalkabels met de tandheugel en



beperk direct contact, anders zal de eindschakelaar defect raken, waardoor de
micro-elektrische takel niet goed werkt.

Stel de mini-elektrische takel niet bloot aan regen of Ondergedompeld in
water, de beschermingsklasse van de mini - elektrische takel is IP40 .

Mini-elektrische takel moet vaste zeskantbouten gebruiken, plat ringen,
veerringen etc., zorg voor een correcte installatie van alle componenten en draai
de bouten vast met de bijgeleverde momentsleutel bijlage "installatiekaart." Zorg
ervoor dat de vaste ring (of andere vervanging) druk de montagepaal (ronde staaf
of vierkante staaf ) stevig aan bar). zodat het micro-elektrische hijslichaam niet
beweegt of roteert

POWER INSTALLATION

De werkstandaard van de mini -elektrische takel is een eenfase
wisselstroombron van 220-240 V/50-60 Hz , en moet worden gebruikt met
aarding .

Waarschuwing: zorg ervoor dat alle kabels en mini elektrische takel op rotatie
of koortsdelen houden voldoende afstand.

OPERATION

schakelaar

Bedien de schakelaar niet , " stijgende schakelaar" , " dalende schakelaar" in
"disconnect" -vorm, "urgente stopschakelaar" (alleen voor PA1000) in "make
up"-status, mini-elektrische takelmotorvoeding losgekoppeld, mini-elektrische
takel in remmen. Druk op de "stijgende schakelaar"(bij kabel zijde), de "stijgende
schakelaar" in de "make up" toestand, mini elektrisch hijsmotor stijgt lus de stroom
is aangesloten, mini elektrische takel is in bewegingsstatus. Tegelijkertijd is de
haak stijgende status.Klik "vallende schakelaar". "vallende schakelaar"in de "make
up" conditie, mini elektrische takel motor verval lus de kracht is aangesloten mini
elektrische takel is in beweging staat, en haak valt staat.

Voor het type PA1000, als u op de "dringend stop-schakelaar" drukt , mini
elektrische takel elektromotor stijgt circuit, vallus is losgekoppeld, druk op
"stijgende schakelaar", "dalende schakelaar" mini elektrisch takel loopt niet, moet



worden gereset "dringend stop schakelaar", mogelijkheid zorgt ervoor dat de
mini-elektrische takel normaal werkt.

1. Waarschuwing: 1. Als de mini-elektrische takel niet werkt de stroom moet
worden afgesloten en er moeten goede isolatiemaatregelen worden genomen
genomen. Het is een verbod om zware voorwerpen in de lucht te hangen voor een
lange tijd, om blijvende vervorming of welke vorm van schade dan ook te
voorkomen ongeluk.

Controleer regelmatig de bouten en de vaste mini-elektrische takel
stroomkabel, seizoensgebonden duidelijke ophoping in elektrische takel online
van stof en corrosieve vloeistof.

8. Als de elektrische takel in de dalende stand staat, zal de elektrische
takelhaspel als laatste bedekt met rode verf van staaldraad kan drie ronden niet
loslaten. Als blijf de schakelaar weigeren, staaldraad volgens dat zou Giet rond de
touwbus , waardoor de elektrische hijs op en neer gaat Bij een verkeerde
bediening verliezen dergelijke eindschakelaars hun werking.

MAINTENANCE

olie

Bij het kopen van een nieuwe miniatuur elektrische takel binnenin de notitie
levenslange onderhoudssmeermiddel. Bij het bedienen van mini elektrische takel,
er kan wat slijm zijn, vooral bij de eerste operatie. Dit is normaal, hoeft u niet bij te
tanken voor de mini elektrische takel.

Staaldraad

Mini-elektrische takel moet periodiek worden geinspecteerd en vervangen vaak
het touw. Als het staaldraad is gerafeld, moet het worden vervangen onmiddellijk.

FAULT AND EXCLUDING

Mini-elektrische takel wordt vaak gebruikt of verkeerd bediend , kan
verschijnen verschillende fouten . Veel voorkomende fouten, oorzaken en
eliminatie Methoden zie onderstaande tabel :

‘ Gewoon ‘
fouten

reden Eliminatiemethode

-8-



Handliftknop om te
schakelen
Motor draait niet

1. De stroomvoorziening is door

2. Bedrading kapot oflo

3. Schakelen

4 Schade aan de condensator

5. (klimknopstoring. reset of de stroker)
beginstoring limietfragment

6. Abrupte stopschakelaar is niet
gereset

25. Verwerkingskracht

26. Controleer de bedrading en

repareer deze

27. Repareren of omschakelaar

28. 4 Wisselcondensatoren
Controleer het limietframe of

vervang de slagschakelaar

1Q D t ahriint, +, halal

Handliftknop om te
schakelen Motorgeluid

1. De voedingsspanning is te laag

19. Spanning aanpassen

20. Uitwisselcondensatoren

groot 2. Schade aan de condensator ]
Kan niet normaal 3. Schakelcontact ongewenst Reparatie of overdrachtschakelaar.
otarten Neem contact met ons op of met de

Remstoring of een
grote slippartij

Alsjeblieft contact wij of de
verkoopeenheden

Excessief lawaai

13. Slechte smering

14. Of schade aan het tandwiellager
3. Na montage openscheuren slecht of
klop tegen

19. Voeg het vet toe
Controleer de vervangings- of
tandwiellagers

Controleer de montage van alle

Chassis opgeladen

1. Aardingsfout of geen aarding

2. Interne geleiders en chassis

1. Controleer en repareer de grond

2. Controleer en repareer interne
draden

Limietmechanisme
falen en instructies en
uitvoering van het
opheffen Tegendeel
resultaat

aarding

Onjuiste bediening van de staalkabel
in de achteruitversnelling veroorzaakte
cilinderschade

De zaak stijgt, laat de haak de
schakelaardraad dalen touw einde
en volledig van de buis, en dan
smeken om goed te werken




TEKENING VOOR FIXATIE

GEDRAAIDE MANIER VAN TOUW
NO NO OK
HET ELEKTRISCHE BEDRADINGSSCHEMA VAN DE ELEKTRISCHE HIJS

o |

T f
alsaf wanch [lpltll-l'll!l' llnurﬂnltaudnh migiar




-1 -



PA SERIES ELECTRIC HOIST OTHER PARTS LIST

nnmeNOg een stuk naam [ unmer Een andere stuknaam  [iosyee

1 |Vast frame 1 45  |Vlakke pakking ¢ 3 2
» [Kruisgleuf verzonken schroeven Kruisgleuf verzonken kopschroeven

M8*22 4 46 |M3*6 1
3 |Bevestigingsring 2 47 [Windblad 4
4 |Zeskantbouten M8*25 4 48 |Motorvoering 1
5 |Borgring buitenste profiel ¢ 8 4 49 _|[Kegeleindstelschroef M6*8 1
6 aste framemoer 4 50 |klemmen 1
7 Kruissleuven up-do zelfborende

Ondersteunende set 1 51 |schroeven ST24*14 1
8 [Sterke cilinderpakking 1 52 |Iinlegvel (concaaf) 6
9 [Touwcilinder 1 53 |Plaats heffingsvoorraadwinkels 6
10 [Staalkabel 12m | 54 [Kruisgleuf zelfborende schroeven 5
11 |gewichten 1 55 |Kabelklemmen 4
12 |Boeiende nichtjes 1 56 |Bedradingsdeksel 1
13 |Ring voor touwmantel 1 57 |Vlakke pakking 4
14 Kruissleuven voorzien van koploze

Haak 2 58 |schroeven M4*20 4
15 |Zeskantige kabelcilinderas 2 59 |Kabelstekker 1
16 [limiet frame 1 60 |Drie-aderige kabel 1
17 |Zeskantschroeven M8*45 1 61 |Kabelbeschermingscirkel (klein) 3
18 |Cilindrische deuvel ¢ 3 2 62 _|Kruisgleuf panhead schroeven M4*8 1
19 |Platte sleutel M5*14 2 63 |Vlakke pakking 1
20 |Circli p s voor as @7 1 64 |Aardingsplak 1
21 |Lager60202 4 65 _|Vieraderige kabel 1
22 |Limiet s p ring 1 66 |Kabelbeschermingscirkel ( groot ) 1
23 |Schroefdraadbout 1 67 _|Kabelbeschermingscirkel ( klein ) 1
24 |Versnellingsbak 1 68 |Twee-aderige kabel 1
25 [Kruisgleuf pau hed schroeven M5*14 2 69 [Kleine kabel beschermcirkel 1
26 |Vlakke pakking 5 1 70 |Reis schakelkast 1
27 |Zeskantbouten M5*14 5 71 |Openingen blokkeren cirkel 1
28  |Kwekerwasser 5 5 72 |Schakelas 1
29 [Tussenliggende schacht 1 73 |Reisschakelaar 1
30 ] ] Kruisgleuf up-do zelfborende schroeven

Secundaire versnelling 1 74 |ST35*14 1
31 |superuitrusting 1 75 |Reisschakelaar afdekking 1
32 o Kruissleuven geleverd met

IAfdichtring 1 76 __|pankopschroeven M3*28 2
33 |Lager60200 2 77__|Schuifas 1
34 |Voormalige cover 1 78 |Pen-as 1
35 |De rotor 1 79 |Splitpen 1
36 |De stator 1 80 |treky 1
37 |chassis 1 81 |Pulle en stents 2
38 [lente 1 g2 |Vlakke pakking 1
39 |Remcomponent 1 83 |Hefschakelaar 1
40 lomslag 1 84 [Handgrepen afdekken 1
41 |Zeskantbouten M4* 175 4 85 |handgrepen 1
42 \Vlakke pakking @5 4 86 |[Kabelmantel 1
43 |Kwekerswassers @ 5 4 g7 |Kruisgleuf zelfborende schroeven 3
44 |Achterkant 1 88 |[capaciteit 1

-12-




VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat
www.vevor.com/support

-13 -


https://www.vevor.com/support

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat
www.vevor.com/support

ELEKTRISK VAJERTELFER
ANVANDARMANUAL

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are
actually saving half in comparison with the top major brands.

-14 -


https://www.vevor.com/support

‘ r L2
EVOR ELECTRIC WIRE ROPE HOIST

TOUGH TOOLS, HALF PRICE

MODELL: PA800 /PA1000

(Bilden ar endast for referens; vanligen hanvisa till det faktiska objektet)

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to
contact us:

Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.

-1-



SAFETY INSTRUCTION AND PRECAUTIONS

Symbol | Symbol Beskrivhing

@ Varning: Fér att minska risken for skada maste anvandaren lisa

bruksanvisningen noggrant.

Denna symbol, placerad fore en sakerhetskommentar, indikerar
T en slags forsiktighetsatgard, varning eller fara. Att ignorera
denna varning kan leda till en olycka. For att minska risken for

skada, brand eller elst6t, folj alltid rekommendationerna nedan.

£} VARNING:

36.Las noga och forsta alla MONTERINGS- OCH
DRIFTINSTRUKTIONER innan anvandning.

37.Denna produkt kan orsaka skadliga stérningar. Underlatenhet att
folja sakerhetsreglerna och andra grundlaggande sakerhetsatgarder
kan leda till allvarliga personskador.

38.Innan du anvander klipparen, se till att arbetsomradet ar rent och
snyggt och undvik skrap som hindrar arbetet.

39.Hall fingrarna borta fran spikpistolens islagsomrade under operationen
for att undvika oavsiktlig skada.

40.Nar du anvander en korvklippare, bibehall en stabil hallning och undvik
att skaka hander eller glida for att sakerstalla att nageln kan fastas
exakt pa malobjektet.




INSTRUCTIONS

Tack for att du kopte den elektriska minihissan vart féretag . Vi hoppas att det
kan ge den bekvamlighet du behdver.
Las och forsta denna bruksanvisning noggrant innan du gora installationen
och driften av den elektriska minihissaren,
speciellt " SAFE OPERATION " och for att sakerstalla alla som anvander s
den elektriska minihissaren Iaser och forstar denna del.

TECHNICAL PARAMETERS FORM

Lyft

Lyft

Kabel

Input

modell | anvandande Kaf&")‘tet Hastighet | HGjd | Lang | Driva | AWRete | Belygealt
(m/min) (m) (m) (W)
Enkel krok 100 10 12 S3
PA200 | bbbl krok 200 5 6 121 450 ) 25 %10
Enkel krok 125 10 12 S3
PA250 | bubbel krok 250 5 6 12} 500 ) 20%-10
Enkel krok 150 10 12 S3
PA300 Dubbel krok 300 5 6 12 550 20;?};]1 0
Enkel krok 200 10 12 S3
PA400 | b bbel krok 400 5 6 12 70 B0
Enkel krok 250 10 12 S3 220-
PA500 Dubbel krok 500 5 6 12 900 2%;11 0 24500\_/~
Enkel krok 300 10 12 S3 60 Hz
PABO00 Dubbel krok 600 5 6 12 1050 20;{;’510
Enkel krok 400 10 12 S3
PA800 Dubbel krok 800 5 6 12 1450 20r:fni;11 0
Enkel krok 500 10 12 S3
PA1000 Dubbel krok 1000 5 6 12 1800 20:?1;110
Enkel krok 600 10 12 S3
PA12000 Dubbel krok 1200 5 6 12 2000 20:?1;110

Obs: Isoleringsklass: B; Skyddsklasser: IP40; fungerande system:
Fortsatt cykelarbete.(till exempel:S3 25%-10min)




SAFE OPERATION PROCEDURES

Fo6lj dessa procedurer och observera sdkerheten

nadr du anvander den elektriska miniliften:

1. Snélla Ias och férsta denna bruksanvisning noggrant innan operationen. Vi
maste regelbundet kontrollera installationen av mikroelektrisk hiss for att méta
behoven och for att underlatta du applicerar den elektriska miniliften.
Installationsplatsen Mini elektrisk hiss och bekrafta att den ar solid eller inte.

2. Den elektriska minihissens kapacitet ar begransad, snalla gér det inte
overbelastningsanvandning. Och anvand den inte nar du inte vet vikten av
féremalen (inklusive hangande drag i nedgravd stuvning, kablar, lutande kondol)!
Overbelastning kan skada mini-elektriska lyfta eller repet, och &ven dka osakra
faktorer vid operationen behandla. Vi féreslar att du anvander remskivan for att
anvanda nar du hakar tappa till, denna metod kan fa belastningen att minska med
50 %.

3.Mini elektrisk hiss ar designad enligt S 3-20%(25% ) -10min (den fungerar
namligen 2min och maste vila 8min) Snalla anvand inte lang tid kontinuerligt.
Anvandning av kontinuerlig kan 6ka osakra faktorer under drift, som allvarligt
skadar motorn.

4. Vanligen "dra inte" upphangd objekt nar mini elektrisk hissen jag fungerar,
annars kommer det att 6ka belastningen pa mini elektrisk hiss, och satt i
mini-elektrisk hiss och vajer éverbelastningstillstand.

5.Hall den elektriska minihissens arbetsomrade ren och staddad. Gor det inte lat
annan personal komma i narheten av och kontakta spand vajer, forbjud nagon
staende pa nedanstaende i drifttillstand for mini-ellift.

6. Som det finns ett behov av byt stéllinan, dess typspecifikation maste
oOverensstdmma med originalvajern rep.

7. Satt pa dig tjocka laderhandskar och gor det inte tillat trad rep fran handen 6ver
nar vajer i arbete, annars lesioner av stallinor kan sticka din hand.

8. Vid slutet av operationen , lagg stallinan i behallaren och anvand inte handen
direkt for att leda och arrangera vajer.

9. Anvand inte krokar for att kroka fast repet . Anvand inte mikrorep hissa for att
klamma fast foremalet, annars skadas det repet sjalvt. Sa anvand ett annat
l[ampligt rep for att fasta foremalet.



10. Gransanordning ar som en sdkerhetsanordning konfiguration, det kan se till att
nar kroken steg till granslage ar avstangd nar,

1 1.Anvand inte elektrisk minihiss for att haka pa nagon eller anvanda den fill
bemannad hiss, denna elektriska minihiss ska inte anvéandas for Iyft.

12.Mini elektriska hissinstallationspositioner maste vara sakra varningsskyltar och
kontrolimarken ar i slaende tillstand, eftersom vi behover.

13. Se till att den mikroelektriska hissen fungerar utan nagon barriar

14. Anvand inte elektrisk minihiss for att dricka.

15.Snalla inte under mini elektriska hissen runt nar den fabrik.

16. Vanligen anvand fast infastning av minielliften tillhandahalls, eller sa ar du
oséaker.

Rekonstruera eller svetsa inte en elektrisk minihiss som tillval

18. Med mini elektriska lyftkrok objekt, se till att linan cylinder pa bibehalls i minst 3
varv vajer, for att forhindra att stallinan ar for stressad fran lincylindern vid fallning.

INSTALLATION

Varning: Oppna ladan. Se till att dppna och ta papperstejp virad runt
reptrumma, forst efter det kan man testa maskin, om om du skyndar dig for att
testa maskiner kan det fa rep att spola tillbaka och krascha flygplan.

Placeringen av mini-elektrisk hissinstallation ar enligt till operativa
behov.Foreslas att installera i en speciell konsol for mini-elektrisk hiss, och bor
vara solid och palitlig.

Bor undvika vajer med och begransa stativets direktkontakt, annars kommer
det att orsaka granslagesbrytarens fel, vilket orsakar att mikroelektrisk hiss inte
fungerar som den ska. Bor undvika stallina med och begransa rackets
direktkontakt, annars kommer det att orsaka fel pa granslagesbrytaren, orsakar att
mikroelektrisk hiss inte fungerar korrekt.

Lat inte mini-elektrisk lyftanordning utsattas for regn eller indrankt i vatten ar
skyddsklassen for mini - elektrisk lyftanordning IP40 .

Mini elektrisk lyftanordning maste anvanda de fasta sexkantsbultarna, platt
brickor, fjaderbrickor etc, sakerstaller korrekt installation av alla komponenter, och
dra at bultarna med momentnyckel, bifogat bilaga "installationskarta." Se till att
den fasta ringen (eller annan erséatt) tryck ordentligt pa monteringsstangen (rund



stang eller fyrkantig bar). sa att den mikroelektriska lyftkroppen inte ror sig eller
roterar

POWER INSTALLATION

Arbetsstandarden for min elektriska lyftanordning ar enfas vaxelstromskalla
220 -240 V/50 -60 Hz , och maste anvandas med jord .

Varning: se till allt kablar och mini ellyft pa roterande eller feberdelar haller ratt
avstand.

OPERATION

vaxla

Anvand inte omkopplaren, " stigande omkopplare" , fallande omkopplare" i
"frankopplad" form, "bradskande stoppbrytare" (endast for PA1000) i "make-up”
tillstand, mini elliftmotor frankopplad, mini ellift vid bromsning. Tryck pa "stigande
switch" (ndra kabel sida), "stigande omkopplare" i "smink"-tillstand, mini elektrisk
lyftmotor hojer slinga strdommen ar ansluten, mini elhiss ar i rorelsetillstand.
Samtidigt stiger kroken status.Klicka "fallande strombrytare". "fallande brytare" i
"sminket" skick, mini elektrisk hissmotor minskar strommen &r ansluten mini
elektrisk hiss ar i rorelsetillstand, och kroken faller ange.

For PA1000-typ, om du trycker pa "bradskande stoppbrytare” , da mini
elektrisk hiss elektrisk motor stiger krets, drop loop ar frankopplad, tryck pa "
stigande strémbrytare", "fallande strémbrytare" mini el hissen gar inte, maste
aterstallas" bradskande stoppbrytare”, férmaga gor att mini-ellift fungerar normalt.

1.Varning: 1.0m den elektriska minihissaren inte fungerar strdmmen bor
brytas och bra isoleringsatgard s bér vara tagen. Det ar ett forbud att hanga tunga
foremal i luften under lang tid, for att férhindra permanent deformation eller
liknande olycka.

Inspektera regelbundet fasta mini elektriska hissa bultarna och natsladd,
sasongsbetonad klar ansamling i ellyft online av damm och fratande flytande.

9. Om den elektriska lyftanordningen ar i nedgangslage, haller den elektriska
lyftrullen belagd med réd farg av stallina kan inte slappa tre varv. Om fortsatta att
avboja switch, stallina enligt det skulle hall runt rop e- behallaren, gér den



elektriska lyften upp och ner drift konverserad, kommer sadana granslagesbrytare

att forlora verkan.

olja

MAINTENANCE

Kopa en ny ellift i miniatyr inuti not har livslangt underhallssmorjmedel. Vid drift av

elektrisk minihiss, det kan vara lite suddigt, speciellt vid den férsta operationen.

Detta ar normalt, behover inte tanka till minielliften.

Stallina

Miniellyft behdver regelbundet inspekteras och bytas ut ofta repet. Om stallinan

slits, bor den bytas ut omedelbart.

FAULT AND EXCLUDING

Miniellyft som ofta anvands eller anvands felaktigt , kan dyker upp olika fel .

Vanliga fel, orsaker och eliminering metoder se tabellen nedan:

Motorn roterar inte

Gemensam S
resonera Elimineringsmetod
fel
1. Stromforsorjningen har gatt igenom | 29. Processorkraft
2. Ledningar trasig orlo 30. Kontrollera ledningar och
Handlyftsknapp for att 3. Véxla reparera .
byta 4 Kondensatorskador 31. Reparera eller tra n sfer switch

5. (Klattringsknappen misslyckades.
Aterstall eller strokern) bérjan felgrans
fragment

6. Omkopplaren for plétsligt stopp ar

32. 4 Byt kondensatorer
Kontrollera gransramen eller byt

omkopplare

20 A, +311 mle 1

£4

Handlyftsknapp for att
vaxla Motorljud stort

Kan inte starta normalt

1. Natspanningen &r for lag
2. Kondensatorskador
3. Brytkontakt odnskad

22. Justera spanningen
23. Utbyte av kondensatorer

Reparera eller 6verféra omkopplare.
Vanligen kontakta oss eller

Bromsfel eller glid ner
en stor del

Behaga kontakta oss eller
forséljningsenheterna

Overdriven buller

15. Dalig smorjning

16. Eller skador pa vaxellager

3. Riv upp efter montering daligt eller
knacka mot

22. Tillsatt fettet

Kontrollera utbytes- eller vaxellager
Kontrollera monteringen av alla delar
och reparationer

Chassi laddad

1. Jordningsfel eller ingen jordning

2. Inre ledare och chassi

-7-

1. kontrollera och reparera marken

2. Kontrollera och reparera interna
kablar




Begransningsmekanis
m

misslyckande och
instruktioner och
utférande av Iyft K

grundstotning
Felaktig anvandning av stallinan runt i
omvand orsakad cylinder

Fallet reser sig, fa kroken att séanka
omkopplartraden repanden och helt
bort fran réret, och borja sedan
arbeta ordentligt




RITNING FOR FIXERING

TWINGED SATT AV REP

NO NO OK
DET ELEKTRISKA LIFFENS ELEKTRISKA KLEDNINGSDIAGRAM

e |

Famiaz= AN




-10 -



PA SERIES ELECTRIC HOIST OTHER PARTS LIST

Seie |Ett annat p i ece namn |wantiet ?Sﬁfner Annu ett stycke namn  fuanet
1 |Fast ram 1 45  |Platt packning @ 3 2
2 [Tvarslitsar forsankta skruvar M8*22 4 46 [Tvarslitsar forsankta skruvar M3*6 1
3 |Féastring 2 47 |Vindblad 4
4 |Sexkantsbultar M8*25 4 48 |Motorfoder 1
5 |Yttre profillasbricka ¢ 8 4 49 [Stallskruv for kondnde M6*8 1
6 |Fast rammutter 4 50 [terminaler 1
7 3 Cross slitsar up-do sjalvborrande skruvar|

Stodsats 1 51 |ST24*14 1
8 [Stark c y linder packning 1 52 |Infoga ark (konkavt) 6
9 |Ro p e cylinder 1 53 |Satt in avgiftsforsérjningsbutiker 6
10 [Tradrope oM | 54 I\q/_:'ii\r'_s*li‘tsar sjalvborrande skruvar 5
11 |vikter 1 55 |Kabelkldmmor 4
12 Nitande syskonbarn 1 56 |Ledningsskydd 1
13 |Ro p e héljesring 1 57 _|Platt packning 4
14 Tvarslitsar medféljer skruvar utan huvud
Krok 2 58 |M4*20 4
15 [Sexkantscylinderaxel 2 59 |Kabelkontakt 1
16  [grénsram 1 60 |Kabel med tre ledare 1
17 |Sexkantskruvar M8*45 1 61 |[Kabelskyddscirkel (liten) 3
18 |Cylindrisk plugg ¢ 3 2 62 _[Tvarslitsar panhead skruvar M4*8 1
19 |Platt nyckel M5*14 2 63 |Platt packning 1
20 |Cirkli p s for axel ¢ 7 1 64 |Jordning skiva 1
21 |Lager 60202 4 65 |Fyrkarnig kabel 1
22 |Begrénsa s p ring 1 66 |Kabelskyddscirkel ( stor ) 1
23 |Géangad dubb 1 67 _|Kabelskyddscirkel ( liten ) 1
24 |Vaxellada 1 68 |Kabel med tva ledare 1
25 [Tvarslitsar pau hed skruvar M5*14 2 69 |Liten kabelskyddscirkel 1
26 [Platt packning 5 1 70 |[Korvaxellada 1
27 |Sexkantsbultar M5*14 5 71__|Oppningar block cirkel 1
28 |Odlarbricka 5 5 72 |Véaxla axel 1
29 |Mellanaxel 1 73 |Korbrytare 1
30 o Tvarslitsar up-do sjalvborrande skruvar
Sekundar vaxel 1 74 |ST35*14 1
31 |super utrustning 1 75 |Kapa for fardbrytare 1
32 s, . Tvarslitsar medféljer pan-head skruvar
Tatningsring 1 76 |M3*28 2
33 |Lager 60200 2 77__|Glidaxel 1
34 [Tidigare omslag 1 78 |Stiftaxel 1
35 |Rotorn 1 79 |Saxnal 1
36 |Statorn 1 80 |dray 1
37 |chassi 1 81 _|Drai stentar 2
38 [fjadra 1 g2 |Platt packning 1
39 |Bromskomponent 1 83 |Lyftbrytare 1
40 ltacka 1 84 [Handtagsskydd 1
41 |Sexkantsbultar M4* 175 4 85 |handtag 1
42 |Platt packning ¢ 5 4 86 |Kabelmantel 1
43 |Odlarbrickor @ 5 4 87 _|Tvarslitsar sjalvborrande skruvar st35*20| 3
44 |Bakre omslag 1 88 |kapacitans 1

-1 -



VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat
www.vevor.com/support


https://www.vevor.com/support

